Algebra and
Statistics

Answer the following questions :

] Complete the following :
(I 2 = 1 sthen Xis wosesn
ElfXx+y=4 , x-y=2 sthen X2 —y 2 = oo
3] The solution set of the equation : X% — 1 =8 , where XEZ* is «-rvovvvineens
([4]1f2%=3 ythen 8 X = vvrvevenee.
@1_%= ............... %

B Choose the correct answer :
5“ x’)l_
sfs

(a) — (b) - (c) 25 (d) 125
125 25
[R)B =2~ = viswmmis
(@z* (b) N ©) @ (d) {0}
(3] The volume of a cube of side length 3 cm. equals --------: cm?
(@9 (b) 12 (c) 27 (d) 81
(4] The expression : X2 +k X +36is a perfect square when k equals «-eevnv
(@) + 6 (b) +8 (€)+12 (d) +18

(5] A regular die is thrown once and observed the upper face, then the probability of
appearance a number divisible by 3 is oo

. ]. 1 o ] 3
Uﬂ If(t,‘:,"'s*);‘c=%’?:5 sthen X = «oorevvrevienn
(@) -5 (b)-3 ()3 d5

EJ Factorize each of the following expressions :
(x?+8x+15 [2]2x2+7x+3 [(3)x*-1 [4Jax-T7a+3x-21

2
@ [a] Simplify to the simplest form : M
2 g 32 n

[b] Find the S.S. for the following equation where XE R: X%> -8 X+ 12=0

5 NEYPN bag contains a number of similar balls » 5 of them are white and the rest are red. If
the probability of drawing a red ball is % s find the number of all the balls.

[b11f3%=27 , 4X*Y=1,find the values of : X and y
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Answer the following questions :

£} Complete the following :
ME7*"1=3%-1,then X = -oiveevssiunns
() %% —sscmaiason Bl ) § (e +2 X +4)
[B](5X-2y) (25 X%+ 10 Xy +4y?) = e
ii_ilf-rzs—xztﬁ sthen X = oo

'5| A bag contains 9 cards labeled by numbers from 1t0 9 s a card is drawn randomly
» then the probability that the card carries an odd number i « oo

3 Choose the correct answer :
MIEXx3y 3 =8 sthen L = o

X
. X i oL
(a) 8 (b) ¢ (©) 5 (d)2
‘2| The expression : X 2 4 4 X + a s a perfect square when a equals oo
(a) 3 (b) 4 () 8 (d) 16
(3] The S.S. of the equation : X% — X = 0 s oo where X ER
(a) {0} (b) @ © {051} @ {1}
‘4| In the figure opposite :
The shaded region represents «««.:..o: the circle.
. L
(d) ] (b) 6
5 1 1
(©) 7 d) 3
BIIf3%X+3%+3%=1 sthen X = overveeeem
(a)— 1 ()0 © % (@) 1
(B]If 6% =11 sthen 6%+ 1 = ccvvvicn
(a) 12 (b) 22 (c) 66 (d) 72
EJ Factorize each of the following :
(M4x2%-9 @) x3+8
@BX*-5X% @) X*-X—-8

P8 [a] Find in R the S.S. of the following equation : X 2_%X~6=0

5 ~2
[b] Simplify to the simplest form : @353—_

< ()
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X X
B (211723 = L, find the value of X
(12)*

[b] A bag contains a number of similar balls. Some of them are red, 2 green » 4 blue.

1

If the probability of drawing a ball with green colour is 3. find the number of red balls.

“Modell for the merge students

Answer the following questions :

EB Choose the correct answer from those given :
(1] The solution set of the equation : X2 + 25 =0 in R is «eeeeeres
() {~5,5} (b {5} (©) {-5} ()@
(2] If the expression : X2 +a X + 9 is a perfect square sthen a = «eooveeeenes
(a) 3 (b) 6 ©)9 (d) 18

(3] If (X — 1) is one factor of the expression : X 2 _4 X +3 ,then the other factor is «-----.--

(ﬂ)x+3 (b)x-i'] (C)x—3 (d)X—y
(4] If(%)x= (-531)2 sthen X = «ooevereenens
(a)~2 (b) 2 © % @ -1

| 5] The probability of the sure event equals -+

() 0 (b) 5 (c) 1 @2

B3 Join from the column (A) to the suitable in the column (B) :

( Column (A) Column (B) )
()Ifa’?-b*=15sa+b=3 sthena—b=ecreeuue V5
(2] If one digit of the number 37450 is chosen at random »

then the probability of the chosen number is =

- .2
BIEX+3y)?=X2+kXy+9y? sthenk = ereriuene o
(@) 47 4% + 4% + 47 = i

o 44

' 5] The probability of the impossible event = --ooeo.

(AP Y s/ solael Y/ (o) .:ai-.-bh;)‘ql!cll wls B7




Algebra and Statistics

(3 ] Complete each of the following :

[ g = (PSSIR—— } [amensmonss YR )
[2]X3 = 8 = (crerverenerere — ereeruenencnne 1 i ol o £ T— )

B %2 =5 X 46 = (X~ e Y {isssemsessies ~3)
(Bl@a+b) X+ (@+b)y=(a+ e ) (ussscammossnns R )

23 put () for the correct statement and ( X ) for the incorrect one :

1] A school has 320 pupils » if the probability of the chosen pupil is a boy is 0.6 »
then the number of girls is 120

[2)1f3% =27 5 then X = %

3] A card is drawn at random », from cards numbered from 1 to 10 »
then the probability that the card carries an odd number greater than 3 is %
4] The positive real number which if its square is added to its three times »

the result will be 28 is 4

/5 The solution set of the equation : X (X —3) (X +5)=0inRis {0 33 95— 5}

—

5 | Complete the solution in which the expression : A" X6 6 in its simplest form :

241! X 32
(2 .......... )“ % ( ....... g 3)2|1 ~ i ST n ” 32]1
24“ 5 32[1 - 24]1 X 32]1
— 2 .......... . | L X 3 DD sveishisn
= 2 s x 3 ..........
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Cairo Governorate

Answer the following questions :

n Choose the correct answer :

()7 (b) 15 (c) 16 (d) 225
2] The probability of the impossible event equals -

(a)1 (b)-1 (c) zero (d)0.5
(B]If2%*=3 sthen 8 X = -ovvvreree.

(a)3 (b)9 (c) 27 (d) 81
(A]IfX%2-y?=12 » X+y=4 sthen X—y = werereerren

(a)3 (b) 16 (c)8 (d)2
/5 The expression : 4 X 24kX+9isa perfect square » when k = «+oevveene

(a)x 6 (b)6 (c)x12 (d)12

(2] Complete :

@)% 3 —sesssvnsainiss ST ) | R +2. X+ &)

2] Quarter of the number 4% = +.cvovovvve.

(3] The multiplicative inverse of 272 = cvvvernnee.

] () p—

511 (Z) =(2) s then X = corne

B Factorize each of the following :
[@)x?-81 [@ax-7a+3Xx-21
(318 x7+1 #)2 % %515

£} (2] Find in R the S.S. of the equation : X* - X =12

(1) x
(15

[b] Simplify to the simplest form :
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Algebra and Statistics

E) (2116 3%~ 2 =81 , find : the value of X
[b] A bag contains a number of similar balls » 4 red balls » 6 white balls and 5 green balls.
A ball is drawn randomly.

Find the probability of the drawn ball is :

(1] Red. ‘2| Not green. (3] White.

. : : El-Zeiton Zone
n | Talaea Gaber El-Ansary Language:School

Answer the following questions :

B} Complete :
(3% * =1 ,then X = onn
(2] The S.S. 0f X%~ 25 =0 in R s «+orrooeeess
'3 |If the probability of success of a student is 0.7 » then the probability of his failure

IS reevrmernsnnne
[)I£ 3% =27 s then X = cveveveviirns
| 5| The probability of the impossible event is -«

B3 Choose :

(1) The S.S. of X2 ~3 X =0 inRis -

(a) {0} (b) @ (c){0 >3} (d) {3}
(2] If(—g—)x = (%)2 s then X = e

(a) -2 (b) 2 © 5 (d) 5
(a]If X2 + 8 X + a is a perfect square s then a = «eee

(a)—4 (b) 4 (c)8 (d) 16
\4]If the age of Ali now is X years » then his age 3 years ago is - years.

(a) X+3 (b)3 X (c) X-3 (d)6X
(5]37+32+ 3 =

(a) 3% (b) 3* (c) 3" (d) 3%

X X
B[a]lf%:&;ﬁnd:x

[b] Find in IR the S.S. of the equation : X*>—1=8
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Factorize each of the following :
)4x*-9 [@]x*+8
@B x%2-x-6 (4lax-7a+3x-21

B [a] A box contains 2 red balls » 3 white balls and 5 blue balls. A ball is drawn randomly.
Find the probability of getting :

1] A white ball. 2] A non red ball.
3] A yellow ball. ‘4] A red or blue ball.

[b]If3%X-4=9,find the S.S.in R

B Giza Governorate @MW)  Inspectionof Math' .

Answer the following questions :

n Choose the correct answer :

(1] The expression : X2 + k X + 36 is a perfect square when k = -------....

(a)+6 (b)+8 (c)+12 (d)+18
EIE7X12=1 sthen X = orererseenrens
(a) 1 (b) -2 (c)2 (d) 7
(2] If a regular die is tossed once » then the probability of appearing an even number
eqqually <
(a) ) & © 2 (@0
[@]32% 22 = ..covucninnnnn
(a) 5% (b) 54 (c) 6* (d) 62

|'5.-]If%=1 sthen 3 a—3 b s ovumu

(a) zero (b) 1 (c) 4 (d) 8

B Complete the following :
(V] (1= 3) (8= 2) = emsaianss A T SO P
[BIIE3 XL =27 o thent X = swwsssisssaions
|3 ]If a coin is thrown once » then the probability of appearing a tail equals -

|iIX(}!_z)+m(y_z):(y_z)( ............... )
(5] The S.S. of the equation:x2+3 X=0InIRis -eeerreeeene
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EJ (2] Factorize each of the following :
[ x2-4y? 2)x%+8

XX
[b] Simplify : 46+"9

I3 (2] Find in R the S.S. of the equation : X + X =6

[b] Factorize each of the following :
(1) X2+14X+49 [Elax-Ta+3Xx-21

B} [a] If the probability of choosing a boy from a class of 40 students is 0.6
» find the number of girls in this class.

b1 X3y 3=8 sf‘md:%

n Giza Governorate 6th October Directorate

Answer the following questions :

Complete :
'1 | The probability of the impossible event is «---ooeee:
'2)The S.S. of the equation : X%+ 1 =0 in R is e

|'§|(‘\G)3+5 T R——

[@)I£3% =5 sthen (27)% = «ivvcvvvvvonn

(5] The age of a man now is X years » then his age 7 years ago 1$ - years.

3 Choose the correct answer :

(7] Fifth of 520 is «eeessseiss

(a) 5" (b) 5 (c) 5" (d) 5%
EIRTNR =

()0 (b) D@ () {0} (dR
3] If X% + k X + 25 is a perfect square »then k = «--eevvne

(a) 5 (b) 10 (¢)x= 10 (x5
[AEX3+27=(X+3) (X2 +k+9) sthen k= reooevereee.

(a)-6X (b)—3 X (©)3X (d)6 X
BIE7X 3= 5%3 jthen X = oisvuvsiens

(a) 5 (b) 7 ()3 (d)o
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E) [a] Factorize each of the following :

[1)x%-16 2]5X+10y+aX+2ay

E)x*+4y*

[b] A real number if you add it to its square s the result is 12 » find the number.

E3 [a] Find the S.S. of the equation in R :
(1]13X2+15X-18=0 2)X3-9x=0

9xx 32x
[b] IfW= 9 , find : the value of X

e '
E) (2] Simplify : % and find the value when X =2
X

[b] A box contains 5 white » 2 red » 3 green balls. One ball is drawn randomly from the box.
Calculate the probability of each of the following :

(1] The ball is white. (2| The ball is not red.

E Alexandria Governorate [fJ]
.:I‘::'I-

Answer the following questions :

East Educational Zone
Math Supervision

E} Choose the correct answer :

[1]The expression : X 2+6X+kisa perfect square when k = «+-voovvenens

(a)3 (b) 6 ©9 ()36
[B]2R 38R essumosssnins

(a) 10° (b) 10° (c) 10° (d) 10°
(8] 3 = s %

() 50 (b) 25 (c) 100 (d) 75
(A)If5%2=1 »then X = evveron

(a) zero (b) 1 (©)2 @5
(5] (¢ +3) (X = 3) = wrervrevennnens

(a) X*~3 (b) X*-9 © X2+9 (d) X +3

E Complete :

(M)Ifa+b=4 , a—b=3 sthen a2 — b2 = «covvvernennn.
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|EJIf%=% gthen X = wicsesiss

(4] The S.S. of the equation : X2 +5 =0 in R is «eeeeeeee

Eiw (3= 27 e,
.__5_|1f( 3) =5 »then X

B [a] Factorize :
[{)2 247 %43 (@) x>3-8

4" x 6°"

[b] Simplify to the simplest form : 2y 70

23 (2] Find the S.S. for each of the following where X ER :
M11Xx2-8X+12=0 219x%2-16=0

[b]IfX=3 , y=12 ,find in the simplest form the value of :

A x-2y (%)

2X-1 _ 8
125
[b] A regular die is thrown once. Find the probability of each of the following events :

) (2] Find the value of X if : ( %)

1| Appearance of a number divisible by 7

‘2] Appearance of a prime number.

ﬂ El-Kalyoubia Governorate '3,_

R W——— J) A7
), el

Answer the following questions :

n Choose the correct answer :

"1 If the expression : X + k X + 36 is a perfect square » then k = oo

(a) £ 6 (b) 8 (c)+12 (d) =18
|"_'2|[f(.%)x:% sthen X = «cooeeeironins

(a) -5 (b)—-3 ()3 d)5
BIFX3 -y’ =26and X2+ Xy +y*=13 sthen X —y = -evevvvee

(a) 2 (b) 4 (c) 12 (d) 39
'4]The S.S. of the equation : X2 +25 =0 in R s «veveeens

@ {5} b) {- 5} ©{5:-5} @@
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(5] If X is the additive identity element and y is the multiplicative identity element
s then 2 ® 458 e uwniiis

(a) 5 (b) 4 (c)3 (d)2

ﬂ Complete each of the following :

(JIE2%X*3 =1 sthen X = orveeverreene

(2] If (X + 2) is one of the factors of the expression : X 2 17X+ 10 , then the other factor
IS veveeriinniin

(3] If the age of Salma now is X years old » then her age after 3 years is «---voeoee- years old.
4] If the probability of a student succeeds is 0.6 » then the probability of his failure is ...
(5] The solution set of the equation : X (X —3) (X +5) =0 in IR i§ «-erereeeere

Bl (2] Find the S.S. of the equation in R : X2 -9 X+ 14 =0

9x+1x4x

[b] Simplify to the simplest form : Ix

&3 Factorize each of the following perfectly :
(A14x%-25 [E)3x2%2-7x-6
Blax-7a+3Xx-21 @)2x3+16

Bajf2X1=32and3 = % Jfind : X+

[b] A box has 4 red balls » 3 white balls » 5 yellow balls. If a ball is drawn randomly
» calculate the probability of the ball is :

(1] Red. (2] Not white.

; Menya Al-Qamh Educational Admin.
n .. ‘El-Sharkia Governorate Menya Al-Qamh Language School

Answer the following questions :

Choose the correct answer from those given :

E R P .

e ® 3 © % @9
(2] The solution set of the equation : X + 36 = 0 in IR i§ <o

() {6} (b) {- 6} © {6 16} @

(A1) ¥ 0 / obel ¥/ (0li)) elsl, yalsdl s 65



Algebra and Statistics —
(3] L T S
(a) 312 (b) 3* (c)3° (d) 3

(4] The expression : 4 X2 + k X + 9 is a perfect square if k = «-wveee
p p

(a) 2 (b) 4 (c) 8 (d) 12
(B]If3%=5 sthen3X* 2= ovvirennne.
(a) 5 (b) 10 (c) 45 (d) 50

B Complete each of the following :
11_| If?xﬂ ] ,thenx: ...............
|§_] I3 X =7 sthen 3"x= ..............

ERE R0 I TS T S—
[4lIfX-y=5and X+y="17 s then X2 — y2 = o
|5 | If the probability of a pupil succeeds is % » then the probability of his failure
{6 sneensons
ED (2] Factorize :
(1) x%2-9y? @) x2-6Xx+8 (3]3x%-81

2 x+l_ 8 .
[b] If(g) T o find : the value of X

I3 (2] Find in R the S.S. of the equation : X* -8 X=—15

[b] Find in R the S.S. of the equation : 5%~ =25

4" x 62"

B [a] Simplify : ST 5 320

[b] A bag contains balls labeled by the numbers from 1 to 15 » if a ball is drawn at random

» find the probability of getting :
1] An even number. (2] A number divisible by 5

3] A prime number.
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X i S Tala Educational Administration
ElI-Monofia Governorate ¥ Mathematics Orientation

Answer the following questions :

EN Choose the correct answer from the given answers :

[(VEX+y=3sthen7 y+7 X = corerreerene

(a) 7 (b) 21 (c) 72 (d) 10
'2] The multiplicative inverse of 37 ' = vooovenne.

(a) 3 (b)-3 (©)-1 (@3
13| For any event ACC S 5 then P (A) «+evvevenn [zero 5 1]

(a) C b & ©€& (d) &
@RI 4%+ 1 =20 s then 4% = vvoovvernreene

(a) 5 (b) 4 ()9 (d) 24
(BIIfX?-2Xy+y*=36 sthen X —y = ccrrrrreveree

(a)—6 (b)x6 (c) 6 (d)8

B3 Complete the following statements :
1] The probability of the impossible event equals e
(2]If X =15 +2 5 then X2 = ccovvvecrrnnnn
BIEX}+y’=63 , X+y=9 ,thenxz—xY+y2= --------------
(4] The solution set of the equation : X3 =9 X =0 is «--ovveeeeee (where X ER)
(B)If2%=15 , 2Y=5,then2¥ V= ccoeeurnrrnn.

32x+1 x25x

El (2] Put in its simplest form : T

[b] A positive real number » if its square is added to it » the result is 12 » what is the number ?

n [a] If X% zero s X + 315 =% 3 » what is the value of the expression : X % g SCLE ?

[b] A group of cards numbered from 1 to 15. If one card is drawn at random » write the

sample space and then find the probability that the number on the drawn card is :

(1] A multiple of 6 (2] An even prime number.
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Algebra and Statistics
£ 2] Factorize each of the following perfectly :
[1)8 x*+x 2] x%*+y(X-12y)
@ X =3%*+6X-18 @]3y*+7y-6
[b] (1] Find the solution set of the equation where XER: X*— 10 X =21

"2 Find the value of n where n is an integer : 4 x 2" 3=

1« The Central Math Supervision

J) Governmental Language Schools !

|h

El-Gharbia Governorate

Answer the following questions :

Fl Complete the following :
1/ The S.S. of : X2 +25=0inRis --ooeerereee
. ) 4
‘2| The multiplicative inverse of the number (ﬁ ) 1S seeeeremmnnnnns
BIF(X=5)"=1 sthen X € wveveveeens
4 If the perimeter of a square is m cm. > then i8S area is «+-ooveeeeeees

5 | The probability of the impossible event equals -

1 Choose the correct answer from those given :

1 If6x:7 l_,t_hen6x""l= .............

(a) 8 (b) 13 (c) 36 (d) 42
2| The S.S. of the equation : X> +9 X =0 in R is -erveeeeee
(a) {0 53} (b) {0} (c) {0 -3} (d) {0.3 ,-3}
3IfX%2—a=(X-3)(X+3)sthena= s
(a) 3 (b)-3 ()9 (d)-9
4 | The expression : X 2 4+ X + ais a perfect square » when a = «-oooeees
(a) 1 (b) 0.5 (c) 0.25 (d) 2
5 If (X +y) = % sthen (5 X+ 5 y)> = oereeevvns
(a) 125 (b) 15 (c) 27 (d)09
| 4" x 6*"

D [a) Simplify : i 72

[b] If the length of a rectangle is 5 cm. more than its width and its area is 36 cm?

s find its perimeter.
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U3 Factorize each of the following expressions :
M]x2-9y? @)%2-3%24+-6%-18
(8]25X%-30X+9 [@)3x%-81

B [a] If a card is chosen randomly from 10 cards numbered from 1 to 10

» then find the probability that the number on the chosen card is :
(1]even. |2 |divisible by 3 '3 even prime.

[b]If 2% -2 =32 , then find : the value of X

m El-Dakahlia Governorate \&XY"

Answer the following questions :

- Maths Supervision

Bl Complete each of the following :
|l]1—%= ............. %

(2]The S.S.of X2 =9 =0inR g «+wsreeeeveres

(B)If6%X=7 sthen 6%+ = cvvncennne.

O T, E, [, 1 pep——

'5] The probability of the sure event equals oo

B3 (2] Factorize each of the following completely :

(M)x2+8X+15 2)2x%-16

X+2 X
[b] Simplify : 4—;2;;—9

EJ (2] Factorize each of the following completely :
)4 x2%-25 [@Flax-7a+3X-21

[b] Find the value of X in each of the following :

|:'_|_|2x_2=16 [_'g]?,JC—S:?rX—S

8 Choose the correct answer from those given :
|1/ The expression : X 2+kX+36isa perfect square > when k = -----oovnen

(a)x 6 (b)+ 8 (c)x12 (d)+ 18
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|E‘":|Ifx3y‘3=8 ,thenl=. ..............

X

(a) 2 (b) +8 OFF @ L
BIIfX+y=3 s X?=Xy+y*=5 sthen X3+ y> = reversresien

(a) 15 (b) 25 (c) 8 d) 7
[A)If3%X4+3%4+3%=1 ,then X = vreverneen

(a) -1 (b)0 (c) 1 (d)2
(5]If X%2—m=(X~=7) (X+7) » then the value of m = «----rvievens

(a) 14 (b) — 14 (c) 49 (d) —49

3 (2] Find the solution set in R for the equation : X*— X —6=0

[b] A colored marble is drawn randomly of a box containing 13 red marbles » 17 white

marbles and 20 blue marbles. Find the probability of drawing :

| 1] A white marble. ‘2] A red or blue marble.

U o
m . Port Said Governorate %@\? Educational Directorate
e} s _})KLL

Answer the following questions :

&8 Choose the correct answer from the given ones :

X =30 =1 sthen X E ovvverreene.

(a) {3} (b) {-3} (c) R-{3} () R-{-3}
(2] 4+ 43443+ B =g
(a) 2 (b) 3 (c) 4 (d)5

/3] A regular die is thrown once and the upper face is observed » then the probability of

appearance a number divisible by 3 is oo

(@) ¢ OF (©) 1 @ 3
4] The S.S.0f : X (X~ 1) =0 in Ris oererrerreees

(a) {0} (b) {1} (©{1,-1} (d) {0,1}
5 (V3442) (V3-42) = o

(@)1 )5 ©16 (d) 5
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Complete each of the following :
(1]If (X — 3) is one factor of the expression : X2 —4 X + 3 » then the other factor is - -
(2] The expression : 4 X%+ k X +49 is a perfect square when k = --+vovevevevn
(3] The probability of the certain (sure) event equals ...

[i]3x2+10x+8=(3x+ ............... 0 o SRR )
. 2
@22“04,2—1_(—_1_) o

12

EJ [a] Factorize each of the following completely :
[)x2-25 E]x*-41 x4 18
[@)x%* +8 A Xy+5y+7X+35

2X-1
[b] If (%) 125 » find : the value of X

£ [a] FindinRthe S.S.of : X2 +3X-28=0
(DEON
(13)"

B} [a] Use factorization to get the value of : (7.3)2+2 x 7.3 x 2.7 + (2.7)

[b] Simplify :

[b] The following table shows the evaluations of 50 students in one month :

{ Evaluation Excellent | Very good | Good | Pass Fail ]
' Number of students 6 9 11 16 8 J

A student is randomly selected. What is the probability of getting :
(1] Excellent. 2] Good. (3] Pass.

Answer the following questions :

n Choose the correct answer :
(2% =5 ,then 8 X = vvverivrunns

(a) 40 (b) 10 (c) 16 (d) 125
[__]Lf_.— — 0 ,then b LR
(a) 2 (b) -2 (©)5 (d)-5
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Algebra and Statistics M

BIE7X-3=5%"3 ,then X = -erereveenos
(a) (b) 7 ()3 d-3
(4| If the expression : X 24 14X+kisa perfect square » then k = oo
(a)2 (b)7 (c) 14 (d) 49
|5 A fair die is thrown once » then the probability that S appears is «ooreeeeeeees

oF; OF: ©1 @3

3 Complete :
(113X =27 54X+ =1 stheny = woorvereeeeee
'_2__|Ifx2*y2= 12 5 X—y=3sthen X4y = e
'3 The slope of the straight line which is parallel to the X-axis i «ooreeeeeeee
|_4_'|If3x+ 3X 43X =1 5then X = cveereeereenees

(5| The solution set of the equation : X 249 =0inRis woverrerrens

EJ (2] Factorize each of the following :
(M) X?-5X=24 [)x3-125
(3] Xy+5y+3X+15

[b] Find the solution set in R for : X>+12=7 X

4[1 % 6?.11

n [a] Slmpllfy H W

[b] Find the value of X if :

A 87%9 512 X-2 1
- 2 =64 (213 - —
|-- 1——! ].8 X |3 | 27

) (2] Find the positive real number if added to its square the result will be 12

[b] A numbered card is selected randomly from a set of similar cards numbered from

1 to 20 » find the probability of getting a card carrying :
(1] A number divisible by 5 (2] A prime number.
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Final Examinations

7" Bani Mazar Administration
Al-Zahra Language School

El-Menia Governorate

Answer the following questions :

Choose the correct answer from the given ones :
(1)If3%=2 sthen 3%+ ! = ccoooiieneae.
(a) 4 (b) 6 (c)8 (d) 27
[2]X%+10X+kisa perfect square when k = «ovoveneee

(a) 10 (b) 25 (©) £ 10 (d) £ 25
(3] The S.S. of the equation : X2 —49 =0 in R is «rverveen

(@) {7} (b) {-7} ©{-7,7} (d) @
[8)42 4d® = ieon s

(a) 4 (b) 4° (c)2* (d) 2’

(5] The probability of the impossible event equals .-
(a)0 (b) & (©1 (d) 100 %

Complete the following :

[1]5 years from now it will be the age of a man was X years » then his age now

ls ............... yeaIS
m%x2_2_%(x2_ .............. )
(3] A quarter of a half = «cveveveveeee %

mlf‘?x_3:1 sthen X = coovveennnn
(6]Ifa+b=4 5, a—b=5,thena?—b%=-rrcven.

Factorize each of the following expressions :
[)x2-25 2lab+a+b+1
@x3+27 [@x3+x%-12x

E3 (2] Solve the following equation in R : X2 =3 X

52xx5x—l

[b] Simplify to the simplest form : 4%

(V- 1) ¥ o / goliel ¥/ (o) olsb, yalsdl s 73




Algebra and Statistics

B [a] If(%)x_l = % » then find : the value of X
[b] A regular die is thrown once » find :
|1 The event to get an odd prime number.
‘2] The probability of getting a number that is divisible by 5

. 41 Y Administration of Distinguished &
m Assiut Governorate 9 ‘4 Governmental Language Schools

Answer the following questions :

ED Choose the correct answer from those given :
"1 The solution set of the equation : X% — X =0 in R i§ «-eeeeee
(a) {0} (b) @ (©){0,1} (@) {1}
(2 If X2 + k X + 36 is a perfect square s then k = «---cvvevevs
(a) £ 18 (b) =12 (c)+8 (d=x6

(a) 33x (b) 3x+1 (C}3x+3 (d) 933(
(A2 X% +cX-3=(2X-1)(X+3) sthenc = eeene

(a) 2 (b) 4 (c)-5 (d)5
BIIf3%=5 5 3Y=4then3 XY = i
(a) 15 (b) 20 ()9 (d) 1

3 Complete the following :

ﬂ [a] Factorize each of the following :
(1) 25 x2-y* (@) x3+216

[b]1f3%=27 , 4X*Y=1,find : the values of X and y
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X} [a] Find in R the solution set of the equation : X?—1 =8

4x+l>< 92—x

[b] Simplify : _Gfx— s then calculate its value at X =1

B la] Factorize :ay+5 X+5y+aX
[b] A colored marble is drawn randomly out of a box containing 12 red marbles » 18 white
marbles and 20 blue marbles. Find the probability of selecting :
(1] A white marble. ‘2] A red marble.

3] A yellow marble. ‘4] A non red marble

87194 Qena Directorate of Education
"\ Math Supervision

m Qena Governorate S

Answer the following questions :

&E Complete each of the following :

() The simplest form of : (3 ) x (Y3 ) = v
[2]IfX+y=5and X—y=3 sthen X2 —y% = rervvrrrnnnn
3 (17+46) (V746 )" = o

[AJIf X~ 6=0 »then X = v

(5] y3 ST, =iy DY (g ¢ svvenaciviins +4)

E Choose the correct answer :

1] The expression : X 248X +aisa perfect square when a = «oovovvenne

(a) -4 (b) 4 (c) 8 (d) 16
2] If the age of kamal now is X years » then his age 3 years ago was oo years.
(a) X+3 (b)3x () X-3 (d6x

|3] A regular die is thrown once » then the probability of appearance 7 on the upper face

y —3 1 5
|IE]33+33+33= ...............
(@) 3° (b) 3¢ () 312 (d) 3%
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Algebra and Statistics —— -

5 The solution set of the equation : (X — 1) = 0 R g esesevsmsssniss

(a) {-1} (b) {1 ,-1} () {1} d {2}

"1 Factorize each of the following expressions :
119x%-4 2laX-7a+3X-2l

3]X%-1

% |2] Find the solution set in R : X2+8X+15=0

2 5
X x3x____ where X # 0
X

'] Find in the simplest form :

" 2] A numbered card is selected randomly from a set of similar cards numbered from 1 to 15
Find the probability of getting a card carrying :

I | A prime number. 2 A number divisible by 3

'H1I£2X-2 =132 , then find : the value of X
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- Answers of Finol Examinations

Answers of the schools examinations |
on Algebra & Statistics |

[1 [EO) [2](c) El@
(4] (@) [5](e)

B8 x° @4 38
[a)1 [5]-3

B

[M)(x-9)(x+9)
[Elax-T+3(X-T=(X-T{a+3)
Elex+D@Ex*-2x+1)
[a]@2x+5) (x-3)
(4]
[a] =~ X*—x-12=0
L X=4 or X=-3
» The S.8. -{4,—3}

L X—d) X+ =0

(r) =yoed - -2
] =—=~ =(3) x2'=(f3) x2
2x(15) _(21 L
oy
|5
fa] -+ 3 =3 X-2=4
L X=6

[b] (7] The probability of the drawn ball is red = 15
(2] The probability of the drawn ball is not green

_4+6 10 _2
L
[3) The probability of the drawn ball is white
_6 _2
15773
B o |
EBC4 (2]{5,-5} [8J03
[a]3 [5]zero
BlOo© (2] (@) (3] ()
[al(e) (8](b)

g (2")"x(23;?x: ¥ 2-‘:133)‘ g
(2% 3y 2*x3**
- ZJIAX=26 . 22},:26
H2X=6 5 X=3
[b] - x*—-1=8 nxt=9
LX=3 or X=—3 .~ TheSS.={3,-3}
(4]

[MJEx-32x+3)
Elx+2)(x*-2x+4)

(3] (x-3) (x+2)
[Ala(X-T+3(X-TN=(X-T)(a+3)

[a] (7] The probability of getting a white ball = i
[2] The probability of getting a not red ball
_3+5_8 _4
I (T [V
[3] The probability of getting a yellow ball
L
=15 0
(4] The probability of getting a red or blue ball
_2+5_ 7
T 10
[b] 3% * =3 o X-4=2
LX=6 s The $.8.={6}
Iﬂ(c) ] ® B
(4@ (5] (@)
— : T - - 'l
23 [1:] a 16 [2'_] 4 (3] )
(a]x+m (51{0,-3}
8

lal(J(x-2y) (x+2y)
Elx+2(x*-2x+4)

i P

b ]czz)"x(:n

@x3* AL

4]

[a] =~ X*+X-6=0 L XED XD =
N X=-3orX=2

5 The$8.={-3,2}
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Algebra and Statistics —

1] (x+7)
Elax-D+3X-T=(X-T)(a+3)

[a] " The probability of choosing a girl
=1-06=04
2 The number of girls =40 x 0.4 = 16 girls
[b] - x’y?=8 s X

. ¥
NEIR I

() zero @ (@1
[a]125 Blx-7

2 ) E® B
EG)] (5] ()

3 ]
[al (1) (X-4) (X +4)
(B]S(X+2y)+a(X+2y)=(X+2y)(S+a)

Elx*+d4x’y+ay' —ax?y?
=(x*+2yH-4xy
=X +2y 42X (X242 -2 Xy)
[b] Let the number be X AX+XP=12
AxPex-12=0 L (X=3)(X+4)=
S X=3 or X=-4
. The number is : 3 or — 4

a
[a][(7] = 3 x? + 15 X — 18 = 0 (Dividing by 3)
L xP45X-6=0
L(X+6) (X-1)=0 L X=—6orX=I
o TheSS.={-6,1}
(2] x'-9x=0 AX(xT-9)=0

AX(X-3)(X+3)=0
L X=0orX=3orx=-3
5 The §8.={0+3 -3}

70

(33) X
4%
3”‘ :32 FHx-3X 32
¥
3% ag? x=2

a8
@ x@x3** sz”‘x;#‘
[a] lx 31 X = 2}3{ };/1
When X =2 S S A
[b] (1] The probability of the ball is white = -3
[2] The probability of the ball is not red

=5—+-g'-= l = i
10 1 5
(5] Alexandria
Bl [2) (@) (3]
[a] () [5] (b
amnn B [3)2s
@@ E-3
a
[a]m(2x+l) (xX+3)

El(x-2)(X*+2X+4)

[b](z)x(axz)hl_'zan}}ﬁszn }:_n-zl

Prxgtt T giag gt g
(4]
) x*-8x+12=0

A (X=6)(X-2)=0

S X=6orX=2

. TheSS.={6,2}
E]vox*—16=0
L(BX-4(3X+4)=0
4 _-4

.'.X:ior x_T

- ThesS.={% .3

mIx?yt=Lx L

=
=

=L x =

16

1
2



— Answers of Final Examinations

a 2
(1) ek
n2x=4 LX=12

[b](7] The probability of appearance of a number
divisible by 7 = % = Zero

[2] The probability of appearance of a prime number
-

:l_
B~ 2
(6| El-Kalyoubia
BOe BIG) (3]
(4] (5)(b)
Bg0l-3 Elx+5  [38]x+3
[4]04 (5){0,3 -5}
a
[a] = X*-9X+14=0
L (X=2)(X=T)=0

HX=2 or X=T7
~TheSS8.={2,7}

b (Bz)xn x(21}x & azxﬂxzu(_azx”‘zx

ax2t*

4]

[Alex-52x+5

B3 x+2)(x-3)
[FlaX-T+3X-N=X-7(a+3)
[@)2(x+2) (X" -2X+4)

fa] 2% '=2°
5 X=6
s 3 =(3)"
LX+y=6-2=4

HX-1=35

Ly=-2

[b]1[1]) The probability of the drawn ball is red

S
1273
() The probability of the drawn ball is not white
~4+5_9 _3
Sl 12~ 4

B B[e) B[C)
[al@ (Bl B
amzem @%‘ [3]15

5

- Bl
a
[l Jx-3y)(x+3y) [El(X-4(X-2)

[E]3x-3) (X" +3X+9)

ARV .
miv($) =(3) x+1=3

A X=2

[a] v X*-8X+15=0
LX=5 or X=3
lb] o 51—3:52
s X=5

L (X=5)(X-3)=0
s TheSS.={5,3}
LX=-3=2

s TheS.S.={5}

(al (22)":( @x3t_ " x 2" 1P
P 21 3;»*
[b] (@] The probability of getting an even number = %
[2] The probability of getting a number divisible

9
=1
2

[@) The probability of getting a prime number
-6 _2
1575
Bm) (] (@ ENC]
EIEY (Bl
B (1) zero 9+ 41’; [@)7

[a]{0,3,-3} [58]3

32301)‘(51)1 _ 3214Ix s;x =32x¢|-2x=3

[a]
@Bx5)" PXy X
[b] let the number be X LX+X =12
AXPex-12=0 A(X-3)(X+4)=0

s X =3 or X =— 4 (refused)
. The number is : 3

1




Algebra and Statistics

o :
x4 L=t3 ( :( )
. X2

.-.x2+2+%=3 &1
X

*i—&

mIs={15,253,..515}
(1] The probability of drawing a card carrying
a multiple of 6 = 12_5
[2] The probability of drawing a card carrying
an even prime number = vii—s-

[RIAXEX+ D=Xx2X+DEX>-2X+1)
EIx*+Xy-12y = (X+4y) (X-3y)
[B] X% (X-3)+6(X-3)=(X~3) (x> +6)
[A]By-2)(y+3)
b1 X2-10X+21=0 & (X-T)(X-3)=
LX=7 or X=3 .~ TheSS.={3,7}
(E)--4x2"tz) e e |
PR AT Lna7=0

An==7

) El-Gharbia

aoe (24 Em-{s}

2] o [8] zero

16
2 [EBICH) (2] (b
5l

[a)(e)

Ble

(2)*(2X3) %2’ x 32
I G 2w gt

[b] Let the width be X cm.

< The length = (X + 5) cm.

L X(X+5)=36

A XT45X-36=0

AX-4) X+ =0

L X=4 or X=-9 (refused)

2 The width =4 cm,

s the length =9 em.

2t
=-2?ri-=|

< Its perimeter = (4 + 9) x 2 =26 cm.

72

(Jx-3y)(x+3y)
[2]x*(X-3)+6(X-3)=
[Bl5x-3)(5x-3)
()3 (x =27 =3(x-3) (X*+3X+9)

(X-3)(x*+6)

a
[a][1] The probability that the number on the chosen
card is even = 1—50 = %
[2] The probability that the number on the chosen
card is divisible by 3 = ia

[3] The probability that the number on the chosen
card is even prime = 1_10

] 2% 2=2° LX-2=5
LAX=T
10 El-Dakahlia
glzs (2]{3,-3} (3]42
(a6 [5]1
Up——
[a][1](x+5) (x+3)
(23 -8)=2(Xx-2) (X>+2X+4)
[ ](21)X+2x(3 ) =22X+‘x3;30
@2x3? 22X 2%
:22x+4—2):=24=16
3 ]

[al(]2X-5(2x+5
[FlaX=-N+3(xX-N=(X-T)(a+3)
b1(A])- 2% 2 =2 nX-2=4
L X=6
E] Wi 3x—5 =?x-5
L X=5
4 [N (2]@
[a](a) (5t

L X=3=0

R[]

[al " X*-X-6=0
HX=3 or X==32

S (X=3)(X+2)=0
& TheSS.={3,-2}
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[b] (1] The probability of drawing a white

marble = %

{2]The probability of drawing a red or blue

1342033
marble = R

11| porcsaid

B BG)] @
(4] (@ (5]

@i;n (2]+28
[a]4s2 (5]1

3]

[al[7](x-35)(xX+5)
Elx-9x-2)
Blx+2) (X -2Xx+4)
[Aly(X+5)+T(X+H=(X+5y+T)

@@

(31

3

w (1) (3)

n2X%X-1=-3 n2x=-2
SX==

a

fa] - X*+3X-28=0 .~ (X+T)(Xx-4)=0

5 The S.S.={-7 14}

() -4

LX==T or X=4

(ﬁ)s*(f)-“:(ﬁ)

[b] (‘Iﬁ)

[a] (73 +2x 73 %27+ (2.7

= (13 + 2.7  =(10)" = 100
|b] [1] The probability of getting excellent =
1

G
e

[2] The probability of getting good =

[3] The probability of getting pass = 3% =5

B
(a) @

(2
(5] (0

[2)4 (3] zero
(5]@

[a](1])(x-8)(x+3)
[2](x-5) (x®+5x+25)
[Bly (x+5)+3(X+5)=(X+5)(y+3)
W) X*—7Xx+12=0 . (X-3)(Xx-4)=0

L X=3 or X=4
- TheSS.={3 .4}
fa) L x@x3" ci > e
8 zanxszn = ‘2“"x33""' - 2—1:-_
3x X ix
mI[A) = %: 2 o LixPE g
@x3) 2% 5 3%
2”"‘:2‘5 Pt 22)::2&
H2X=6 LX=3
(2] 3% 2= _13_ s 3X-2_93
3
HX—-2==3 =-1
a
[a] Let the number be : X
nX+Xi=12 AXxex-12=0

L(X=-3)(x+4)=0
L X=3 or X=-4 (refused)
. The number is 3
[b1[7] The probability of getting a card carrying
a number divisible by 5 = 05
[2] The probability of getting a card carrying
a prime number = -2% =%

Bl m @m ENOC)
(4] @ 5@

a@x+5 [2]4 [3)125
[a]3 (5)20

a

[AJ(x-5) (X +5)
[Blab+ D +b+1=(b+1)a+1)
[El(x+3) (X*-3X+9)
[@x(x*+X-12)=X(X+4) (X-3)
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Algebra and Statistics
4]
[a] w x*=3x
LX(X-)=0

SXE-3%=0
LX=0orXx=3

2X . X-1
[bls );i 252x+x-|-3x=5—1
5

ﬂ X-1 3 X-1 -3
w (7@ () -)

X-1=-3
(b1 [1]{3 5}

[2] The probability of getting a number that is
divisible by 5= L

6
14 Assiut
B [21(b) (3] ()
(4] (a) [5)(b)
2 [EDR [2]25 @%
[a]10 51
1[5 x-y) (5 X +y)
(2] (x+6) (x7 =6 x+136)
b]3%=31 L X=3 (n
PR Ct L X+y=0
From(l): »3+y=0 . y=-3
(4]
[a] = x*-1=8 x%=9
&L X=3 or X=-3 . TheSS.={3,-3}
[b] QZ)X+IK(32)2 -X . 21+2x3-1-2_x
f2x3} 2% 32X
=22X+2—2.‘(x34—23(—21
=21x34—4x=4x34—4x
Atx=1

a3 oyt x =4

[alay+5Sy+5X+aX=y(a+5+X(5+a)
=(@+5)(y+x)

74

[b] (1] The probability of selecting a white marble

~18 _ 89
50735
[2]'The probability of selecting a red marble
_12 _ 6
TS0 T2
[3) The probability of selecting a yellow marble
o | A
= 55 =
[4] The probability of selecting a non-red marble
=18+20 _38 _ 19
50 50 25
[1 [EHES! [2)15 (31
[4]6 [5]8 .2y
(2 [EB[C) BIC] El©
[a)v) (5)(e)
a

[MGX-2)(Ax+2)
(ElaX=-N+3(X-T=(X-T)(@a+3)
Blx-necd+x+1)
a
[a] v x*+8X+15=0
LX) (X+5)=
L X==3 or X=-5
~ The 8.8.={-3,-5}

Z 8
XX _ 2+5-3_ 4
[b] e =x
[a] (1] The probability of getu'ng a card carrying
)
4 prime number = 1 =5
[2]The probability of getting a card carrying
=3 =1
a number divisible by 3 = 53
[b] 2% 2=2° -2=5

WX=7
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Schools Examinations Algebra and
of the previous years Statistics

Answer the following questions :

Choose the correct answer :

(11f X% + k X + 25 is a perfect square » then k = «-oroceuvieee

(a)5 (b) 10 ()% 10 (d)+5
BIIES ** 2= | sithen X = sissssss

(a)l (b) -2 ()2 (d)5
BIIf X?—a=(X-3)(X+3)sthena = v

(a) 2 (b)-2 ()9 (d)-9
4| The half of the number 2% i§ «-weeveeees

(a) 2* (b) 27 (c)4 (d)—4
5 ]f(%)’\= .2% sthen X = s

(a)2 (b) 1 ()8 . (d) 3

B X3 +8=(X+2) (X2 +k+4) sthen k= weeemreennes
(a)—-2 X (b)y4 X ()2 X (dy—-4X

n'
'._E Complete the following :
1] The SS.of X2 4+ 9 =0 inIRi§ rerererevenres
— 7 . ; i 4 .
2| The multiplicative inverse of the number (’\G) ¥ e

3|If (X —4) is a factor of the expression : X 2 _5 X +4 »then the other factor is -

4| The probability of any event A & weoveveve

5)(V5) 515 = o

\Ila [a] Factorize each of the following :
1aX+bX+5a+5b @ x> -1 3)x*+4
[b] Find in IR the S.S. of the equation : X 2+9X+18=0

\&¥ [a]1£3%X- " =27 , find the value of : X

[b] Simplify to the simplest form :
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Algebra and Statistics

; =3
_E [a]IfX=3 , y= 3afindthevalueof:(%)

4% x 62X
24xx 32x

. ol e

‘e Cairo Governorate East Nasr City Zone k’! =
Manarat Heliopolie School :

-— Y 7h3 | B

Answer the following questions :

[b] Simplify the following to the simplest form :

E¥ Complete each of the following :
1| The probability of the impossible event is «-+ov.
2 aX+by+bX+ay=
3| Fifth the number 5% is -.ocovvori
[@]1f3%=5 ythen (B7) X = cuivcssssivnss

5| The solution set of the equation : X2 + 1 =0 in R is «-eeeevees

H' _
_E Choose the correct answer :

|1/ If the probability that a student succeeds in a subject is 0.8 » then the probability of his

failure is ««-eeoeeene
(a)0 (b) 1 (c)0.2 (d) 0.8
BJIE 6™ =7 sthen 6%+ = ccceccivincs
(a) 42 (b) (c) 1 (d) 6
(8] 4% 4942 442 ¢ 83 =i
(a) 412 (b) 4° (c) 4 (d) 48!
4| The solution set of the equation : X2 =5 X +4 =0 in R is -oreeeee
(a) {1 54} (b) {2 »-2} (c) D (dy {1}
5| A regular die is thrown once » then the probability of appearance number 7 is -+
(@) 0 (b) 1 OF- @ 1
6 IfX2+kX+25isa perfect square sthen k = --eoveeeens
(a) 5 (b) 10 (c)x10 (d)£5
I"!_B |a] Factorize each of the following completely :
13a2+7a+2 25(+10m+al+2am
[b] Find the value of X in each of the following :
1 (x-3)" =128 (2]42%-1=1024 [3]5*-7=1
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Final Examinations

u [a] Simplify each of the following :
() (3 <(45) . (265
BCEECE i

[b] A bag contains balls labeled by the numbers from 1 to 15 ,if a ball is drawn at random
» find the probability that the drawn ball carries each of the following :

1 An even number. 2 A number divisible by 3 3 A prime number.

l'lE [a] In producing 600 electric lamps s if the probability of the defected lamps is 0.05 »
then find the number of the good lamps and also the number of the defected.

[b] Find in R the solution set of each of the following :
1]x%2-9=0 @) x%=5x 3]3X=-X2%-2

3
‘9 Cairo Governorate Zietoun Educational Administration
- \ Gonthouria Language School

Answer the following questions :

Ln Choose the correct answer :
i lf6x — 7 . t_hen 6x+ I - en e g

(a) 8 (b) 13 (c) 36 (d) 42
2| If the expression : a X% + 12 X + 9 is a perfect square »then a= -

(a)3 (b) 4 () 9 (d) 16
3 IfXy=3 5 (X+y)2=16sthen X% +y? = i

(a)4 (b) 10 (c) 13 (d)8
‘4| If a regular die is tossed once » then the probability of appearing the number 7 is -

(a) 4 (b) L ()1 (d)0

7 6
= 1 )\2
|E.|3zem+3 _( ) e
3
(a)3 (b) 1 (c) % (d)0

BEX+y=3 » X2—Xy+y*=5sthen X +y> = v
(a) 15 (b) 25 (c)8 (d)7

—
_E Complete each of the following :

1| If three times a number is 33, then % this number ig «-oeeeeeeeee

2/ IfX+y=7and a—2b=4 ,then the numerical value of the expression :
A(X+Y)=2b(X+y)= e
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.E'If(%)xzzg—? s then X = «eosveassnas

‘4| A class has 50 students (boys and girls) » if the probability of choosing a girl randomly
is 0.6 » then the number of boys is «-oeeeeeees

BlIfx3y =8 athen%z ...............

\_B [a] Factorize each of the following completely :
[@9-y? 2j4x%+81y"

2
[b]If2%-2 = (—1—) s find the value of : X

212
\_a [a] Find in IR the S.S. of the equation : 3 X + 15 X—18=0
[b] Simplify to the simplest form : (3 X 'x2X*)+6X-!

1.5 [a] A positive real number » if its square is added to three times of it 5 then the result equals 28
Find this number.

[b] A box has 15 regular balls s 3 of them are white s 9 of them are black » a ball is drawn
randomly.

Find the probability of the drawn ball is :
1 Black. 2 Not white and not black.

= A
‘o Giza Governorate SuiseDipEHon
Baraom Mier Language School
— =)

Answer the following questions :

'!l Choose the correct answer :
1]The S.S. of the equation : X% — 1 = 8 in IR i§ -+--vverervee

(a) @ (b) {3} (c) {- 3} (d){-3,3}
DI 6% =" sthen 6 X" = vusivasiens
(a)8 (b) 13 (c) 36 (d)42
3 If a regular die is thrown once » then the probability that the number 5 appears is -«
{:l_}% HH% w;% td}%
BT *-3=5%3 , then X=wssssscssoon
(a)5 (b) 7 ()3 (d)0
5122 % 312 =i
(a) 62 (b) 6* (c) 6'2 (d) 6%

40



Final Examinations

6| If the expression : X* + 14 X + b is a perfect square s then b = -eeeeeeee
(a)2 (b)7 (c) 14 (d) 49

.;'.__E Complete each of the following :

E If(%)x=% o tHEN X = wmsserasesnss

2| The solution set of the equation : X% + 9 =0 in R s «----veeeeeee

'3 If the probability that a student failed is 7% » then the probability that this student
succeeded i§ ---reeereeenes

4 ,If?,x: 81 sthen X = -vsivivninins
5 The age of a man now is X years then his age 7 years ago was - years.

& [a] Factorize each of the following :
(18 X2-50 2 x*+4yt
[b]If a real number is added to its square the result will be 12 5 find this number.

'E! [a] Find in @ the solution set of :
11x2-x=12 214x%-25=0

sxx9x

[b] If =64 »find : X

B [a] A box contains similar balls » 8 white balls » S red balls and 7 black balls s if we
choose a ball » then find the probability that the ball is :

1 | White. 2 Black or red.
[b] Find the value of Xif : 2 B

‘9 Giza Governorate Dokki District
Mudern Narmer Language Cchool

Answer the following questions :

Il Complete each of the following :
1 If X =3 is a solution of the equation : XZ2+2X+k=0 sthenk = creeeeeene

2 The solution set of the equation : X%l = 0InRis rovsm
3 The quadratic equation : (X + ) (3 X-2) =0 is equivalent to ------- rE—— ~10=0
4 If3x_2 =27 sthen X = --ovevveennn

5 There are 21 boys and 15 girls in a classroom » if a student is chosen at random
» then the probability that the student is a boy equals <o

(V) ¥ s £ galiel ¥/ (o) olot, yalsdl s 41
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E Choose the correct answer :
1 The solution set in R of the equation : (X - 1)% = 038 svsponmssssans

(a) {0} (b) {-1} ©{1,-1} (d) {1}

BIIE3% 4+ 3% 4 3% =1 gthen X = «oevessioions

(a)—1 (b) 0 (c) 1 (d)2
3 3_2; ..............
a) 1 0 | o
(a)9 (b) 5 ©-3 (d)-9
4_ 2]2 x 3]2 T
(a) 67 (b) 6* (c) 6" (d) 6
5 A regular die is thrown once » then the probability that 5 appears is «---eee:
(a) — % (b) zero (c) —é— (d) %

6| The expression : X* +a X + 2 can be factorized s then a = -

(a) 1 (b) 2 ()3 (d)4

'|__E [a] Solve in R the equations :
1)x%2-x-12=0 B X(X—-2)-22~-%X)=0

[b] The length of a rectangle is more than its width by 5 cm. If its area is 36 cm’
» then find its dimensions and its perimeter.

e Xl g2 X " ; .
_u [a] Simplify : T s then find the value of the result when X =2

[b] If the sum of the square of a positive number and three times this number is 28
s then find the value of this number.

EJ (2] Find the value of X if : 32 X3 = 243

[b] A bag contains 20 balls numbered from 1 to 20 s if one ball is drawn at random
» then find the probability that :

1 The number on this ball is a multiple of 4

2 | The number on this ball is less than or equal to 7

\
N I
— hY

Answer the following questions :

“ Choose the correct answer :
4[5, S S ——
(a) X%2-4 (b) (2 + X)? (¢) X2 +4 M) X2-4x+4
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2147 4 4% + 4% £ 45 = oremiivinse

(a) 4° (b) 4* (c) 4" (d) 48!
@ fkx2- 12 X + 4 is a perfect square s then k = --veveene

(a)—6 (b)—4 (c)-2 (d)9
2 If%: | sthenda—4b=-nnn

(a) 8 (b) 4 (c) 1 (d)0
5] KX+y=3sX2-Xy+y?=5sthen X3 +y3 = i

(a) 15 (b) 25 (¢)8 (d)7
B If3%=2 ,then 27X = oo

(a) 9 (b) 4 (c) 8 (d) 1

E Complete the following :

_."I ]fx3 y_3 =8 ,[hen%: ...............

2| A bag contains 9 cards labeled by numbers from 1 to 9 5 a card is drawn randomly »

then the probability that this card carries an odd number is «-----eeeee

'3 The S.S. of the equation : X241 =0inIRIS c-eerereereneen
4 Iszx =6 sthen X =5 = -cocerveernnn.

5 (a—2)(2a—3)= e PN . [

—
E' Factorize each of the following :
[1)3x2-48 B x*-7%+10
X342 x% =458 a]2x3-16y°

B (2] Find the SS.inR:

132852 5(3)"-%

[b] A bag contains cards numbered from 1 to 20 and a card is drawn randomly
Find the probability of :

1 Getting a number divisible by 4 2 Getting a number multiple of 7

',_B [a] Find the real number which if we added its square to its three times » it becomes 28

4" x 62"

b] Simplify : 5
| ] piity 24nx3..n
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% (_uu n
‘o Alexandria Governorate Eagtorn Educational Zone
Taymour Englich School
— N —

Answer the following questions :

\E¥ Complete the following : )
1 -Ifu:ﬁ s b=YY2 ,then the valueofﬁ;: --------------
51 (10 x (107 _
~(0.1)* x 0,001

3| A numbered card is selected at random from a set of similar cards numbered from 1 to 24
» the probability of getting a card carrying a multiple of 4 is --oooeeeeee

[@)(9 a2 -4 b2) = (3 a—-isenires ) fisspsnntins +2b)
[B] 00+ 3 9)% = X2 4 sessivmsionnss +9y

'lE Choose the correct answer :

1 If (X + 3) is a factor of the expression : X 2+ X — 6 5 then the other factor is -

(a) (X-2) (b) (X -3) (€) (X +2) (d) (X + 6)
2]1f3%=27 , 4x+y=1,thcny= ...............

(a)0 (b)3 (c)-3 (d) 1
3| The S.S. of the equation : X =3 =0 in R is w-eeeeeveeene

@ {3 -3} m {V3} ()9 @ {-V3.Y3}

2(V3442) (f3-42) = s
(a) 1 (h]'\/g (m{E (d)5

5  Which of the following may be equal to the probability of an event ?

(a)—0.73 (b) 1.23 (©) 79 % ) %
I X 427 =064+ 32 4 k-+9) »thish K= orrsrsseeses
(aA)-6X (b)-3 X ()3 X (d)6 X
'-HB _ ) ;1nx6;; = = L
| a] Simplify : ————
[ I P y 24nx33n
" . 2 'EJC+1_ 8
[b] Find the value of x(g) =178

&Y Factorize each of the following :

(X422 -4X~8
3/5a%-18a+ 16
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B [a] Find the SS.inR:2 X3 =18 X

[b] In the opposite figure :
Two squares » if a person shoots at
a picture in the figure » then find the
probability of hitting the shaded part.

6Gem.

Jem.

Answer the following questions :

B Complete each of the following :

(1] The simplest form of : (’\E)q X (‘\6)5 N

BIEX+y=5 » X-y=3 then X2 =y?= s

[B]If X —6=0 sthen X = -rserresones

T e S () 1 e SRR +4)

8 (V7+46) (1746 )" = oo
HE Choos;he correct answer : )

(1] The expression : X* + 8 X + a is a perfect square when a = «--evveoos

(a) —4 (b) 4 (c)8 (d) 16

(2| A regular die is thrown once » then the probability of appearance 7 on the upper face
O
(a) % (b) *é" ()0 (d) %

(B]If (X +3)“™ =1 sthen X E --evvvivanec
(a) R-{3} (b) R—{-3} © {3} (d) R

4| If the age of Kamal now is X years » then his age 3 years ago was .- years.
(a) X+3 b 3X (c) X=3 (dy6 X

5| The multiplicative inverse of 1 is «wweees
(@) 0 (b) 1 (c) 2 (d) 3

@) 3% 4+ 3° +3° =i
(a) 3° (b) 3* (c) 312 (d) 38

LB [a] Factorize :

[9x%-4 B 10y —Ty-12
@4 x*+1

[b] Find the solution setin R for:2 X2-2X-12=0
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o - ' 5O 06"
&Y [2a] Find in the simplest form : - where X #0

|b] Factorize : 3 X—-21+aX-"7a

_B [a] A numbered card is selected randomly from a set of similar cards numbered from 1 to 15
Find the probability of getting a card carrying :

1| A prime number. ‘2| A number divisible by 3

[b] If 2X~2 =32 , then find the value of : X

~
‘o El-Kalyoubia Governorate
=

Answer the following questions :

Mathe Supervision

Il Choose the correct answer :

BB B st

(a) Z* (b) N (c) @ (d) {0}
2  The volume of the cube of side length 3 cm. equals «--oeeeeeee cm?

(@)9 (b) 12 (c) 27 (d) 81
3 The expression : X2+ 4 X + a is a perfect square when a = --oevoe

(a) 3 (b) 4 (c)8 (d) 16
4 The S.S. of the equation : X% — X =0 is «---roveeees in IR

() {0} (b) @ (c){0 1} (d) {1}
5 If (X - 1) is one factor of the expression : X% -4 X+3 »then the other

factoris ...............
(a) X+3 (b)) X+1 () XxX-3 (d)yx-4
(5V_(3V 3
o111 ($) = (2) s then x= v
(8} =2 (b)2 [(:}l ((l]-:—i

2 Complete :
1 lf?x_] =3x_l sthen X = --orerarnssnes

2 A bag contains 9 cards labled by numbers from 1 to 9 » a card is drawn randomly »
then the probability that the card carries an odd number is ----ooeeeee

3 a_4+l=a_4( ............... S Oy Eo R )“.rherea¢0
3 o e
a1-2 =
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\B [a] Factorize :

% y? 2)y3 +8
[b] Find the S.S. of the following equation in R : X2 - X—-6=0

B
W,__E [a] Factorize :
Yax-7a+3x-21 B x°-3x
[b]1f3X=27 , 4X*¥Y=1,find the value of each of : X »y

{'__E . . 2 4X+ 1 X 92 -X
%% [a] Find in the simplest form : _(G)T » then calculate the result when X = 1

[b] If one digit of the number 37450 is chosen at random » find the probability that the
chosen digit is an even number.

o
‘@ El-Monoﬁa Governorate Kwuosgna Educational Diroctorate
.-—/———_*_-_-\

Mathematice Cupervigion

Answer the following questions : (Calculator is premitted)

\_“ Choose the correct answer from those given :
[(1]0.002 x 0.05 = «sovsusevecs

(a) 1073 (b) 1074 (c) 10* (d) 10°
(2] The expression : (X—2y) (X?+2 Xy +4 y*) equals -----vveoeree

(@) x3-2y (b)x3-8y° () x3+8y d)x3+18y*
3] The value of the expression : 52 + 52! equals oo

(a) 5 x 5% (b) 5 x 5% (¢) 6 x 5% (d) 6 x 5!

10
/4| The value of the expression : 254 (ﬁ) equals e

(a) 26 (b) 21° (c) (WE)IS (d) (1[2_)20

5 If the probability of choosing a boy from a class of 40 students is 0.375 » then the
number of girls is «eoeveene girls.

(a) 35 (b) 25 (c) 20 (d) 15

6| The solution set of the equation : (X — 1)? =00 IR S covevveeeeene
(a) {-1} (b) {1} ©{-1,1} (d) {2}

{
'|B Complete :

(1] The expression : X> -2 X +k is perfect square when k = «---ovovevvee
B3 x 27X =15 5 then X = -sicssssvins
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allfa’+b’=7 » ab=3,then(aﬁb)2= ...............

alX(y-2)+l(y-2)=(y-2) (oo )

i(ig_g'—)_l=(ﬁ) ..........

E [a] An integer is added to its multiplicative inverse » the result equals 2 Find the number.

[b] Factorize each of the following :
N3x2-15%4 12 @5 x*-9
3] x*4+9x2+8l

= | X+l a2-X
B (. Simplify : %2

2% » then calculate its value at X = 1

[b] Ifx=@ . y=—1* . z=iz_2——,findthevalueot':x2+(xZ)2><3,r2

3

EF (2] A set of cards numbered from 0 to 10 » if a card is drawn randomly
, find the probability of each of :

1 Drawing a card carrying an odd number.

2 Drawing a card carrying a number divisible by 5

[b] Factorize each of the following :
Tjax-7a+3Xx-21 2]9 x%-25

: A\ e
‘m El-Dakahlia Governorate £
— Y

Answer the following questions :

Complete each of the following :
1] 1£ 3%~ 1 =27 s then X = v
If (X=5)"=1 sthen X € «reveeerens
3|Ifa+b=2(X+y)=14 sthena (X +y) +b (X +y) = eveeeren

|

41 The probability of the impossible event = -

5| If the perimeter of a square is X cm. » then its area is -

E Choose the correct answer :
M1I£6X =7 sthen 6% 1 = viciivinnnnns
(a) 8 (b) 13 (c) 36 (d) 42
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‘2 If the product of multiplying four by a number equals 48 »
then the third of this number = «-oeovovv.

(a)4 (b)8 (c)12 (d) 16
= " 10
3| The value of 2° + (’\E) R

15 20

(a) 26 (b) 210 (c;(ﬁ) (d}(ﬁ)
4 The S.S. of the equation : X* + 9 X =0 in R is --ccccvveeveene

(a) {0 ,3} (b) {0} (c) {0 -3} (d){0,3,-3}
[B]1f2%=5 s then 8 X = vorvririvvrnn

o S ; 64
(a) 3 (b) 25 (c) 125 (Lill25
BIfy’—a=(y-2) (Y2 +2y+4) sthen a=erveenn
(a)2 (b)4 ()8 (d)— 8
Ii_a Factorize :
BIX =y =1 % 7 219x%-42>+y*+6Xy

B)3 %3 -2%%+ 12 %8 )25 X2 -30X+9
\n [a] If the length of a rectangle is 5 cm. more than its width and its area is 36 cm?
Find its perimeter.
2\X_ 4 (2!
[b]If (J;) = & »find the value of : (—3-)

| - g X-1 X
B (2] Prove that : @7~ x8 E]

(zﬁ)zxx(ﬂﬁ):x: 27

[b] A team plays 30 matches in national league » its drawn probability is 0.3 and its win
probability is 0.6 Calculate the number of loss matches.

‘@ [S ma"ia Governorate Diroctorate of Education
:, Elmanar Language School
—

Answer the following questions :

m Complete each of the following :
142 (X+Y)=3b(X+Y)=(X+Y) (sreerrrmrere = vvsieninnsene )

'2|The S.S. of the equation : X243 X=0inIRis cwroerereeveees
[B]If 3% =27 sthen X = eevereveeene

‘4 The probability of the impossible event is -

V0D Y o / sl ¥/ (o) ol walbsdl s 49
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5 If the probability of absent pupils in a school is 1% » then the probability

of present pupils is oo

_E Choose the correct answer :

1IF(X=5) =1 sthen X € evvvvevenee:

()R- {5} )R- {-5} () {5} (d) R
'2 The S.S. in IR of the equation : X% + 25 = 0 i§ «vereeereee

(a) {5} (b){5,-5} (c) D (d) {-5}
3]If 5% =2 sthen 5%+ 2 = ccivecnuiunnnn

(a) 25 (b)2 (c) 50 (d) 100

4| A bag contains 20 balls » 8 of them are white and the rest are black » then the probability
of the drawn ball is black is «:--coooeeee

(a) 1 (b) 0.6 (©)0 (@) 55
5 Which of the following can be the probability of an event ?
(a) 12 ® 3 ()02 (d) 37 %
BIIfX%—a=(X=3)(X+3)sthena = -ereee.
(a)3 (b) -3 (©)9 (d)-9
EJ 12l Factorize : [11 X3 -3 x2+6X—-18 [2]3 x3 -8l

(28 .
|thf(5) =5, find the value of : X

¥ 1] A positive real number if you add its square to its three times » the result will be 28
find the number.

[b] Find in R the S.S.of : X> -8 X=-15

¥ (4] If a card is chosen randomly from 10 cards numbered from 1 to 10

» then find the probability that the number on the chosen card is :
1|Even. ‘2 Divisible by 3

'3 Even prime.

Q7Y% x 8% l

) ) T

[B] Prove that :
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‘@ Damietta Governorate Inepection of mathemalice
— Y

Answer the following questions :

@ Choose the correct answer from those given :

Final Examinations

11 T T rom—
(@)-9 OF ©-4 ()9
@m N | 1 I—
(a)4 (b)6 (©8 (d)-6
[3]1f a coin is thrown once » then the probability of appearing a tail equals ---veeove
(a)1 (b)0.3 (€)0.5 (do
(4] The solution set of the equation : X24+9=0inRis wrererreeee
(@ {3} (b) {-3} ©@ @ {3 ,-3}
[ 7 [ L 0 ., | —
(a)4° (b) 4* (c)4'2 (d) 48!
(8] The expression : a X 2_40X+25isa perfect square when a = «oooeenee
(a)2 (b)4 (©)9 (d16

LE Complete each of the following :
(1]1If the probability that a pupil succeed is 0.8 » then the probability of his failure is
RIf7%X=1 sthen X = wweveereve

[@)If2%X =5 sthen2 X = cocovvevnne.
BIIfX-y=3and X+y=4 sthen X2 —y? = covevrrere.
y y

\E [a] Simplify : (ﬁ)s 5 (f)_m
(3)

[b] Find the solution set of the following equation in R : X 2_8X=-15

Ln [a] Factorize each of the following expressions :
[A)x%-4y? @x*+4y*

[b] Find the solution set of the following equation in R : 3X 4 =9

51



Algebra and Statistics

: 4 4
\_E [a]If a =ﬁ » b= 3 ,find the numerical value of : :2 ;‘;2
[b] A box contains 5 white » 2 red » 3 green balls 5 a ball is drawn randomly from the box.
Calculate the probabilities of the following events :

‘1] The ball is white. 2| The ball is yellow. (3] The ball is not red.
\
‘@ El-Fayoum Governorate Directorate of Education
> Cuparvigion of Mathematics

Answer the following questions :

m Choose the correct answer :
1 If—E—: | sthenda—-4d b= coeeereeen

(a) 8 (b) 4 (c) 1 (d) 0

‘2 If the probability that a pupil succeeds is 0.7 » then the probability of his failure
IS semsmumsnsmens

(a) 0.7 (b) 0.07 (c)0.3 (d) 0.03
/3] If the age of Ahmed now is X years » then the square of his age is <

(a) x> (b) 2X (c) 2x2 (d) X+2
M=)+ 1) =i

(a) 0 (b) -2 (c) 2 (d) 201
T »a#0

(a) 5 (b) a (c)5a (d) 1
BIIfX-2y=3 » X*—4y2=21 sthen X 42y = wreeeoreeen

(a) 14 (b) 9 (c) 7 (d) 6

I'\_E Complete each of the following :

(@) 3 = %

2]Ifa=7% 5 b=7%,thenax b=

\_B [a] Factorize each of the following completely :
1]36 - 60 k + 25 k* 2) x* + 64
[b] Find in R the S.S. of the following equation : X> + X =6
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(15)° x(-15)
(&)

[b] A regular die is thrown once Find the probability of the appearance of a number :

¥ [a] Simplify to the simplest form :

1] Even. ‘2| Between 0 and 6 /3| Prime.

‘_E [a] Find in R the S.S. of the following equation : 2" ~° = %

4x+1 % 92—x
623(

L,
‘@ El-Menia Governorate El-Menia Educational Direetorate
= Menia Kawmia Language School

Answer the following questions :

[b] Simplify to the simplest form : » then calculate its value at X = 1

{. Complete the following :
1] The solution set of the equation : X2-1=8 ywhere XIEZ ig viusuusssisa
BIE3* =1 Sthen X = rmsmornees
13| The S.S. of the equation : X2-25=0inIRis§ -wreeeeereee
(a ; X — _1 — e
illf(3) = s then X =

/5 The volume of a cube of side length 3 cm. equals oo cm

\E Choose the correct answer :

(1] The S.S. of the equation : X (X —2) =0 in R i§ «--ceveeveues
(a) {0} (b) {2} (c) {0 52} (d) {0,-2}
jallfx3y_3=8 ’then%z ...............

(@) = (b) & oF (d) 2
3] The expression : X + k X + 36 is a perfect square when k equals -
(a) £ 6 (b) 8 (c)+12 (d) =18
[ SR C W L PR S—
(a) 412 (b) 16" (c) 167 (d) 163
/5 If the probability of success of a student is 0.75 » then the probability of his
FAIIULE i§ «+vvvveevereens
(a) 0.20 (b) 0.25 (c) 0.30 (d) 0.35
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(8] If (X — 1) is one factor of the expression : X —4 X + 3 » then the other factor

1S cormeemenneias
(a)X+3 (b)x-l'l (c) X-3 ) X—y

X X
[a] If%=64,find:x

[b] Find the S.S. of the following equation in R : X 2_1=8

\g Factorize each of the following following expresions :
@) x3+8

B) x*+324

@lax-Ta+3X=21 @ x%:-x-6

[@)4x%-9

[a] If (3)X~2 =9 , then find the value of : X
[b] A colored marble is drawn randomly out of a box containing 12 red marbles
» 18 white marbles and 20 blue marbles.

Find the probability of selecting :
(2] A yellow marble.

(1] A white marble.
[4] A non red marble.

(3] A red or blue marble.
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Answers of the schools examinations
on Algebra and Statistics

WO TR

| 1 REB[] [2](b) (3]
[a](b) (51 Bl(a)

Bo Bf BJx-1
[a]fo 1] (s]1

13

[al[ 1] X(a+b)+5(a+h)=(a+b) (X+3)
[)(x- DX +X+1)
Elx*+4x*+4-4x7

=(x*+27-4x*

=(x2#2420(xX%4+2-2X)
[b] - X249 X+18=0 o (X+6)(X+3)=0
L X=-6 or X=-3
5 The$.8.={-6+-3}
4]
{3 =27 o i -
—-l-‘ wX=4

(f_

\,—?>1'§ ﬁl
(1’“)( =(15) " x(V2)

! e i

bl-———

Wy

2 2x
[h‘J x 62" _I3] % (2%3)
,,4»(*32-\ ,'J! 33.\’

g x" xa')r
2“)‘3’),

4 2:x+:x-4x

=20:[

OEETER

| 1 JERETY [2la+b)(X+Yy)
@s” (a] 125 5@

BGe (2] ) B
[a] () [5](a) [8](c)

[all1](3a+ Na+2)
[E|5:ir+2m}+:llt'+2m}=(f+2m][5+u)

i) (x-3=128 = (x-3"=2
AX-3=2 LX=5
[E)-- 2% '=1028 4% '8
L2X-1=5 L2X=6 LX=3
IE','SN'Tzl sX-7T=0 nX=7
14 ] 4 -3
(B) =(2) = (13)
(E1IRE

() (7 =)"
S(B) ()
e

23t _

o) 2544

2

[b1[7 ] The probability of getting a ball carries an
even number = = 3
[2] The probability of getting a hall carries
a number divisible by 3 = —G = ,I‘
[3]'The probability of getting a ball carries

a prime number = —F = %

a8
[a] * The number of defected lamps = 0.05 x 600
= 30 lamps.
*. The number of good lamps = 600 — 30
= 570 lamps.
1] x*-9=0 L(X4+3)(X-3)=
LX=-3 or X=3 - TheSS.={3.-3}
[2) x?=5x L X2-5x=0
LHX(X-5)=0 L X=0 or X=5

~TheSS.= {ﬂ 25}
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Blwe3x=-x>-2  +X*+3X+2=0
HX+2)(X+1)=0 5 X=-2 or X=-1

S TheSS.= {—2 » - i}
TR
[
| 1 Jea[C) [2](b) (3] (b)
[a](d) B[] [8](a)
B (s [2]28 [@-3
(@20boys (84

[A]G-y)(G+y)
[Zlax*+36x y 481y -36x7y°
=2x +oyPoaexly?

=@2x2 49y 46X 2 X +9y - 6xy)
)25 =t =Ly} o 2%-2_(gy3
2'x2 ¥
S X=-2==3 S X==1

[a] v 3X +15X-18=0 .~ 3(x+5x-6)=0
LXTH5X-6=0 LX+6)(X=1D=0
LX=-6 or X=1 .. TheSS.={-6-1}

[b] 3%~ 2 X*) 4 6*-1 o B k2™
’ ¥ T

— X D=(¥-D _ 52,

[a] Let the numberbe X = X +3X=28

LXTEIN-28=0 A (X-4)(X+T)=0
S X=4 or X =-7 (refused)
s The number is : 4

[b] 7] The probability of drawn ball is black
9 3

= ﬁ = :?
2 The probability of drawn ball is not white and
o S |
not black = 553
(4) Giza N
| 1 R[] 2 @l
[al(e) (51(c) (8] (d)

| 2 [k B[] [3)93%
[a]a (B]lx-7
3]
[al (8 x?-50=2 (4 x-25)
=22X+5)(2X-5)

Elx*+axPy?+ayt-axty?
=‘x2+2y'.')!_4x2},2
=(x*+2yte2xy (xPe2y?-2xy)

Lx+xi=12

S (X=3)(X+4)=0

[b] Let the number be X
W X?ex-12=0
HX=3 or X=-4
. The number is : 3 or — 4

a1 X =X-12=0 o (X+3)(X-4)=0
AHX==3 or X=4
~The8S8.= {—3 |4}
[Elwax?-25=0 ~L(2X-5(2X+5)=0
W3X=S #X=5 or 2X=-5
==5 . _.J5. _%§
e 5 The$S.= ?'T}
X X
(b) - 822 =64
18
L@ x@* 23 Xx33*
exah* i
A3X=X _ o6 42X _ 56
2X=6 =3
15 |
[a] (7] The probability that the choosen ball is white
—8 7
=5
[2] The probability that the choosen ball is black
54712 -3
s =t
[b] 2% F=16 2%-2=24
X-2=4 X=6
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BOw El( [3](b)
@© El© Bl
3]
[a] (@]~ x3- =0
L(X+3)(x-4)=0
LX==3 or X=4
@ X(X-2)-22-%=0

LX(X=2)+2(X=-2)=0
A(X-2)(X+2)=0
WX=2 or X==2

[b] Let the width be X cm. .. The length = (X +5) cm.

AX(X+5)=36 A X2+5X-36=0
SX=-(X+9)=0
A X=4 or X=-9 (refused)

.. The width = 4 em. and the length =9 cm.
2 The perimeter = (4 +9) x 2=26 ¢cm.

I'-‘ {"‘}x'lxii l -X :234-2,‘34—31
T Rl
5 2X42-2X 52
'3‘.“-.”::\'“13\'.;
= 4
.‘4].—3
When X=2 34:1"4::_4:-84_]
[b] Let the number be X X*+3x=28
A X243X-28=0 L (X-)(X+T=0
S X=4 or X=-7(refused)
& The number is : 4
a
[a] = 332243 T e
L2X-3=5 2Xx=8
S X=4

[b] 7] The probability of gmint a ball carries

amultiple of 4 = ﬁ ]

[2] The probability of y.lung a ball carries
a number less than or equal 7=

20

OEEZER

| 1 JEnye Zw) 3l

[a](d) 5@ [B](c)

8o ®; o

@10 El24%,6

o

[A13(x2-16)=3(X-4) (X+4)

[l(x-2)(x-95)

EIx (X+2)-4(X+2)=(X+2) (X -4)
=(X+2)(X+2(X-
~(x+1ﬁlx 2)

:]z(x —8yH)=2(X-2y) (X742 Xy +4y)

() (3] - 3%°73 S i
2n-5=0 2n=35
n=3

"
=2
—fee M

2 E Jn__ 3¢
@+(3) =% & =)
232n ay=4
+(3)=(3)
SL2n==4 n=-2
.. The $.8.={-2}
[b] (7] The probability of getting a number divisible
5.1
by 4= T !
[2 ] The probability of getting a number multiple
G e
of 7= 36 =10
[a] Let the number be X
LXT+3X=28 XP43X-28=0
SAX=H(X+Ty=0
v X=4 or X=-7
*. The numberis: 4 or =7
4"x6t _ 2 x@xd"
lhi.,dn ‘2n- :dnxaln
. ) Xa;’_f"._l
=X 2P oo
' n : L
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A () Aoancis Y
e

[aj2bs3a [5l6exy
Hw (2l (3]
(4] () (5] [8](b)

) 1 2 2 3
- N =-n =n =n
29" x(@2x3 27" % 25" x 2T

[a]

a0 320 S AN, 32
24"
=:-In=|
2X+1 3
b) - (2) =(§] 2x+1=1
2= . X= ]
4]

[Mx+2)’-4x-8
=(X+2 -4 (x+2)
=(X+2) [(X+2)-4]
=(X4+2) [(X42-2) (X+2+2)]
=(X+2) [X(X+4)] =X (X+2) (X +4)
|?l:1=+?_.'lh+h:—c:=(n=+21ubi‘-bzl—c:
=(a+b)"-c¢”
=fa+b-c)(a+b+c)
[3](5a-8)(a-2)
Aly(X+5)+T(X+5)=(X+5)(y+T)

5 ]

[a] - 2x - 18x=0  ~2X(x-9)=0
L2X(X-3)(X+3)=0
SX=0 o X=3 o X=-3
S The §8.={0+3 -3}

2

[b] “+ The area of the big square =6 x 6 = 36 cm?:
» the area of the small square =3 x 3=9cm’
'{[;ll\‘.' prlnbahi]il}' of hitting the shaded part

36 4
() Aiccncria |
——
|1 [EIEY (215 36
[a]8 -2y (511

70

B W

al(c) [5](b) B(b)

3 ]
[a][](3Xx-2)(3x+2)
[2](Sy+4)2y-3)
B4 x*+4x3+1-4x°
=@x +1y-4x?
=@2x*+1+20ex3+1-2%)
b) s 2Xx*-2x-12=0
L2(X-N(X+D=0
" The SS.= {3 -2}

03 i
tal.\ x'.\. :xfm___l:xi

[2]) 3!(b)

22X -x-6)=0
LHX=3 or X==2

X
[b]3(X-T)+a(X-T)=(X-T)(3+a)

[a][ 7] The probability of getting a card carries prime

L
number = 15=3

[2] The probability of getting a card carries a

number divisible by 3 = = = %
=3

1
2
-2=5 L X=T

A (9) cikalyoubia
e — %

| 1 [l B0 [3](b)

[4](e) 5] (6] )
11 @,—i- 31 »a*
[5]4

[b] -

o

[l

[
L
"
L

=
|-

[al[ ] (x-y)ix+y)
Eliy+2)1(y’-2y+4)

[b] - X -x-6=0
HX=3 or X==2

4]
[ a(X-7N+3(X-T)=(X-T)(a+3)
[lx(x-5

S(X=-3)(X+2)=0
~TheSS.={3.-2}
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[b] - 3% =27 n3%=3 sx=3
R Eae g | "'414‘}:40
L X+y=0 “.3+y=ﬂ )':—j
EX#0 L adid=X 242 kI X
2 k) T 3
lﬁ!l ) Hw] = *
(25 3 P
2 X+2-1X g4-2X-2X
=2 x3" X gx 3t
When X =1

nax3t g3t x¥=4x1=4

[b] The probability that the chosen digit is an even

numbcrr—*-g-
WEm 2o @ ()
(@)@ 5l [8](b)
B (21 @1
[@)(x+L) [5]3
3]
[a] Let the number be X
+. its multiplicative inverse = ~|?
. X+ J— =2 ’

llnll]llpl}'lﬂb both sides of the equation by X)

aX 4=

.-.x2-1x+1=n L X=1P=0
X=1 - The numberis @ 1

[bI[A]3 (X7 -5 X+4)=3 (X-4)(X-1)

EFio?-m=Lt@-nt+3x+9

@Ext 418X +81+9x7-18X7
=(x?+97-9x°
=(X*+9430 (X7 +9-3X)

P‘l"'m‘r"‘ B s

{.,x“ X, 31X
=22x+2-:x % 34—2.%—3.\'
St ANy 3teX
when X =

| 1 JE3F!

£ W) (_1_]

L -
]
,-—-

[b] xte(xzy xy~ -(

[a] (7] The probability of drawing & card carries
an odd number = -|5—|~
[2) The probability of drawing a card carries
a number divisible by § = ﬁ
b1[A]a(x-T+3(X-T=(X-T(a+3
El(3x-503x+5

(1) croanis

[2Zlm-{5} (a]o8
i @%Lm:

2 FEalt)) ()
[al(b) [5](c)

E:lxi_'_}l-t_:x:y:_qxlyl

@l
[8] (e

2 X ) e

=(X -y -9x"y

= (X -y -3X Y XT -y +3XY)
@‘Jx:-l-ﬁx;w—yz-ela:

=[3.\'+y):~4u1=(.¥x+y+2:nl.3x+y—lnl
ExIGX-2+4(3X-D=(3X-2) (X +4)
[@)(5x-37

[a] Let the width be X cm.
2~ The Tength = (X + 5) cm.
AX(X+5)= A X H5X-36=0
XD (X+9)=0
HX=4 or X=-9(refused)
2 The width =4 cm. and the length = 9 cm.
.. The perimeter = (4 +9) x 2=26. cm.
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@3 (BBl
“(Fr=(3)

v The value uf(%)x‘ b [%)‘ = =[%)‘ - %’;

[b]

a
[a] -

@ x2h*

(ﬂ*’ «(1?)

LH.S.

X_X
IN=F=IA=X: AX=2X=X
=3 W-Xy2

=3 a0_ 1 =
=3 x2—j—.)‘i-z?

[b] The probability of loosing matches
=1-03-06=0.1
2 The number of loss matches = 0.1 x 30 = 3 matches.

p (1) ismaiia

B4a30 @ {0.-3} [@3
— — I’?
4 5|2
“__ - N
E 1lia) :Elcl 3l(c)
al(b) [8](d) Bl(c)

a

[a) [T X3 (X=3) +6(X-3) = (X-3) (X +6)

237 =3[(X-3 (x +3x+9))
1X-1 2X-1 3
B =g @) =()
=3 nIX=4 =2

a
[a] Let the number be X sx2s3x=28
XT+3X-28= S (X=4) (X4 =0
wX=4 or X=-T7(refused)
*. The number is : 4

XT-BX+15=0
nX=5 or X=3
< The $.5.= {3 +5}

ln] 1| The probability that thc number on the chosen
card iseven= = = —

10~
72

[b] L(X=-5)(X-3=0

2 The probability that the number un the

chosen card is divisible by 3= m

3] The probability that the number on the
1

chosen card is even prime = )

x {2

t:‘.l}.\' =1

b} LHS.=

(c) 5 (b) [81(d)
7]o2 [2lo 3o
ra1. 1 =
|a] = 112
4)3 512

[b] - X -8 X+15=0

XS or Xa3
a

[a] (1] (x—

2 (X=5)(X=3)=0
- TheSS.= {35}

2y} (X+2y)

E,\‘4+4_\'l+4x1}':~4x:y:
={.‘<:+2y:12—4x:y:
=72y 2 Xy (X 42y -2 xy)

[b] 3% 4=9 Xl
T X-4= S X=06
A TheSS.= {6}
[ai=a’ o [\!_) (-,F] —9-4 _5_
b ea’ 3+2 5

() +(72)
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[b] 7] The probablht) of drawn ball is white
- ....

5

[{]
probability of drawn ball is yellow
)

SSH3. B _4
0" s
‘@ El-Fayoum
e e %
1 JER[C! 2] EID))
[a](b) (5] (8](c)
2 NERES] Eh (312

[)[A)25K° =60 k + 36 =(5 k-6)°
Ex? +64+16X° _16x?
=(x2+8)°-16x7
=(X P +8+4X) (X2 +8-42X
[b] v X +X-6=0
HX=2 or X=-3

LIX=21(X+3)=0
s The8.5.={2 -3}

D iy “(B)°._(5Yacss
GGG

[b] (7 The probability of appearing an even number

3_1
" 2

[a]

(2] The probability of appearing a number

between zero and 6 = -;—

3| The probability of appearing a prime number

) e |
iz
] 2" Y=L a2t
2
s n=3==2 n=1
. The$.8.= {1}
[b] l- xl‘- "f_z‘.'.\'o:x:*:-:,\'
axas EEpTY
=22x¢:-:xx3h:x-:x
=:2x34-4,\':4x34—sx

ax=1
4=-4 X

. 4x3

| (15) EtMenia N

=4x3""=-tx3"=4x|=4

By @4 @{s5--
[@l-1 (s]27
'BLT_‘(C‘ [2]d) 3l(c)
NG [5l(h) 8l(c)
E__ @) x @y "
T exd®
S3X=X_ 46
L2X=6
M x-1=8

L (X=3)(X+3)=0
% The $.8.= {3 .-3}

4]
MaxX-D+3X-N=(X=-T1a+3
El(x+2) (X -2X+4)
ElX-3)(x+2)
@Ex-32x+3)
Elx*+36x7+324-36 %"

=(x2 4187 -36x7

=24 1846X) (X2 +18-62

[a] 3% % =0 53Ny
LX-2=2 x=4
[b]
1] The probability of selecting a white marbie
=18 -9
50 - 25
[2] The probability of selecting a vellow marble
=9 -0
%0
|3 | The probability of se!a:cling a red or blue marble
1243032 16
50 =50 "2

(4] The probability of selecting a non red marble
180 819

N 25
73
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( c o cﬂg - —
‘ i a acr Admm ration i
N airo Governorate / Al Raga Laiguoga Sehool ,

Answer the following questions :

= @ Complete :

MIEX+y=4 » X—y=2sthen X%~y =

(2] A bag contain a number of similar balls » 4 of them are white
and the rest is red s if the probability of drawing a white ball

is -%— » then the number of red balls equals -

@"Ifgx:‘_Sl sthen XX+ 1 = coeeneeienen

!
™
‘:) The simplest form of ('\('5_ )_4 R W
0
)¢

(5]1If (X +3) one factor of the expression : X 2 4 X — 6 > then the other factor is - ’ P
LE Choose the correct answer from the given ones : . L)
[1]4 +4° + 42 + 478 o 0 @.
(@) 4" (b) 42 (4 (@4° n
(2] A man's age now is X years » then his age 7 years ago was ««.-:coooeeee years. i’t
3 (@) X~7 ®)7 X ©7-X (@ X+T A\
‘Q [3) If the expression : X2 — 12 X + k is a perfect square > thenk = - _ N ‘
(a) 3 (b) 36 ©) 9 (@6 @ )
] (@) The S.S. of X2+ 4 = 0 in R is oo | <?(,7]
"ﬁ (2) {0} (b) @ ©) {01} (@ {1} _ 'ra“
5\"' @Ifa3b‘3=83ﬂlen%= ............... _ _ !«t\
@ <15 ® 1 © 4 ()2 4
(8)IfaER" »m »n are two non negative integers » then a™ x a™ " = a )

Y7 (@)m-n (h)m+n Gjmn (@n-m
¢

) LE Factorize each of the following :

: [x%+8 0 [@Ex*-5x+6 [E)3x-21+aX-7a
;; (a)9 x*—4 (B)% X4+ 64

31

el e iy
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Algebra and Statistics . ' A
K g
@ [a] Find in R the S.S. of the following equation : X3 - 8 X2 +12X=0 ‘
[b][1] Find the positive real number which is if we add its square to three times it » the result @
will be 28 A w
2X+1 g :
(2] If l » then find the value of X
T 125 Ay
P L 6°" x 4" .1'(
& A B (2 (1] Slmpllfy to the simplest form : 27t 370 : ‘
. -
gx, | (B]IfX=3 , y= 2sf‘md,mthesimplestformthevalueof:(%) '
= . \
ez [b] Selecting randomly a card out of cards numbered from 1 to 20 » <
Find the probability of getting a card carries : Q\

(1] A perfect square number. (2] A prime number.

‘Q e Cairo Governorate / Heliopolie Educetional Zone .
™ .

X Answer the following questions : |
™

'

|

J

-

D Choose the correct answer : ) P |
@Ifx2+kx+2513aperfectsquare sthenk=--oooooneee. < B ~
(@5 (b) 10 (c)x£10 (d)£5 @ ‘
[2JIE5%+2=1 sthen X =ererrrines y
(a) 1 (b) -2 (©)2 @5 3 1
BIIf X% —a=(X—3)(X+3)>thena= mrmee- X
| (@2 (b) -2 ©9 @-9 ‘
‘ (4] The half of the number 2% is = v ievve.e. i N
: (a) 2* (b) 2’ (©) 4 (d) -4 |
E]If(—%—)x= 3, then X L é
v / (a) 2 (b) 1 © 8 (@3 ‘ 'm
. [EEXP+8=(X+2) (X2 +k+4) sthenk = v A
AV @-2X ) 4 X ©2X d) -4 x R
\_E Complete the following : ‘ 8
(1) The S.S.0f X2 +9 = 0in R is cvreveeevreeen &
(2] The multiplicative inverse of the number (’\’—3_)4 i§ eererseienian N w
(3] If (X — 4) is a factor of the expression : X% — 5 X + 4 » then the other factor is ----veeeeeeene P‘
(4] The probability of any event A & -.............. P
B(V5) + 545 = e )
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Final Examinations 7 ‘

LE [a] Factorize each of the following :
(1JaX+bX+5a+5b (@)x3-1 Bk x*+4 @w

[b] Find in R the S.S. of the equation : X% +9 X + 18 =0 ’\‘
\E[a]lfs’“::z? , find the value of : X ,’&
(¥5) <(15) N

[b] Simplify to the simplest form :

(15) x(12)" N
\E[a][fx=3 s y= 3‘aﬁndthevalueof:(%)_2 | s

A % g2
‘Q [b] Simplify the following to the simplest form : Hz—x qm)‘

H El Whailly Directorate School
Cairo Governorate / e &

@ Choose the correct answer : _
(1) If the expression : X2 +k X + 36 is a perfect square » then k = «-+eeee.
(@ +6 (b) + 8 ©) %12 (d)+18
@IfX—y=5andx2+Xy+y2=7 sthen X3 —y? = ccovcirnionens

nN
+
™
». Answer the following questions :
)¢
J

3 (a) 2 (b) 7 (©) 12 (d) 35
‘Q (B)1£3X =2 sthen (27)F = -vvivvereeene ’
; (a) 8 ®)9 (¢) 27 (d) 54
| (4)1If 2 is a solution for the equaﬁon:x2—5x+k=0 sthenk = - ovvvveenne _
- @-3 3 ©6 d)=6
()3 +3%+3% = o '
(2)3° (b) 3* (€32 @3
m IR
(@) 4 (b)+8 (©)8 (d) 16

\_E Complete each of the following :
(]9 X2-3X=3X(3X— e )
@1f3*2%2=1 s then Xo= wooveeeeenes
BIEX2-y?*=35and X—y =5 rthen X +y = -overrveneen




\_- Factorize completely each of the followmg :
[M9x2-16 ) x3-125 | k
(B2x%2+7Xx-4 @x3+x2+x+1_ - _Q

. \_u-[a] Find in R the S.S. of the eqﬁation :2x%=18x

92—x

X+1
[b] Simplify : 4_62)%‘—_ » then find its value at: X=1

L. [alIf 3X~%=27 , then find the value of : X

[b] A rectangle whose area is 32 cm? and its length is twice its width find its length » width
and perimeter.

Giza \Y rate National Inctitutes
o Govespprat Al-Horreya Language School

Answer the following questions :

@ Choose the correct answer :

(1) The expression : X%+ k X+ 36 is a perfect square when k equals -+

(@) =6 (b)£8 © =12 (d) + 18
(2] The solution set of the equation : X2 — X =0 in R is - weeeee- \

(a) {0} ®){0,1} (c) D @{1}

(ﬁ +2 ) ('\l— 1[_ ) 48 emmamasnamonss

@1 ®s ©16 @5

[4) A bag contains 10 similar cards labeled from 1 to 10 5 a card is drawn at random
» then the probability that this card catries a number divisible by 5 is «--weweeeee

() zero (b) %— - (© % (d) _é_
(Bl EX+y=3and X>-Xy+y*=5 sthen X3+ y3 = oo

(a) 15 (b) 25 ©8 (d)7
(6] The volume of a cube of side length 3 cm. cquals «--vveeeene cm?

(a) 12 (b)9 (c) 27 (d) 81




Final Examinations >

@ Complete :
M)1- 7},_ = s %
(2] The solution set of the equation : x2_1=8 where XEZ"is -weereeers
BIIF 7% 1 =3%-1, then X = ccooreeerreees
The probability of a certain event is -+
BIfX+y=4 5 X—y=2 sthénxz—y2= ...............

Factorize :
Mx*-1 - (2)4 x*-9 (8JaxX-7a+3X-21
(@2Xx%-7x+3 BE)% x*+4y"
> 2
2) x(@3
Lu [a] Simplify to the simplest form : (‘\(_) ( g
- % (17)

[b] Find the S.S. for the following equation where X ER : X2 -8 X + 12=0

[a]If2x=16 s 3%¥Y 1 s find the valuesof : X >y

[b] A bag contains a number of similar balls some of them are red > 2 greens and 4 blues.
If the probability of drawing a ball with green color is % ’
find the number of red balls.

Giza Governorate / 6 October Directorate

Answef' the following questions :

-@ Choose the correct answer :

(A (X =2)% = coereenrrens

(@ Xx*-4 (b) 2+ Xy ©X*+4 @X2-4X+4
@]_434_434.434.43: ............... :

@4 (b) 4* ()42 (@ 4
[@)Ifk X% - 12 X + 4 is a perfect square » then k = -

(@)-6 (b) -4 (€)-2 @9

@If%—_-l sthen4a—4b=-reeeen
(@) 8 (b) 4 ©1 (@0
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g Algebra and Statistics _ {,
B IfX+y=3 s X*-Xy+y%=5 atﬁenx3+y3=- -------------- ?-
(@) 15 (b) 25 . (@©8 (@7 8
(B)If3%=2 sthen 27X = ccvvovnene. 3 W
@9 (b) 4 )8 @1 | N
/ ’ 0'{5
VA Complete the following : ‘k
g\: @IfJCS -89then-3?—----; .......... "
&z (2] A bag contains 9 cards labeled by numbers from 1 to 9 » a card is drawn randomly » <
then the probability that this card carries an odd number = e eoeenc. Q\

(8] The S.S. of the equation : X2+ 1 =0 in R is --ceeeeene

"Q . @Hsz_%G,thenx_5= ............... Zm:

N [@(a_.;g)(ga_g)'= ............... gk X
':’ Factorize each of the following : ,
: (13 x%-48 @) x*-7%x+10 A
' (8] X3 2. 2 d 2618 @2x3-16y° = Q |
0 p \E¥ (2] Find the SS.in R : | | )@ '
2n-5_ 2\"_ 81
» ) (2] ( 3 =5 3 1
{J [b] A bag contains cards numbered from 1 to 20 and card drawn randomly X
A Find the probability of : ] )
' '
‘Q (1] Getting a number divisible by 4 (2] Getting a number multiple of 7 '\e
= LE [a] Find the real number which if we added its square to its three times » it becomes 28 Ly <
4" x 62" ; "\;
2 [b] Slmphfy —?za ' ]
i S— 2
i\ 6 Alexandria Governorate / Mid Educational Zone A
Mathe Cupervigion ~
Answer the following questions : @ w
' ( Ln Complete each of the following : ' D) ‘
3 5 '
> '\ (1] The simplest form of : (ﬁ) X (ﬁ) = e P&
LA EEX+y=5 > X-y=3 then X2—y2 = ccoourrrrucucc )
s | 4
B 6 \
& 2

\Q
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Final ExominaTionS/

@Ifx—6=[} sthen X = oceeeveeennns

5 7 DD = (7 =2) (y% 4 e +4)
J( B (17446 ) (17 A6 ) = e -
Lf @ Choose the correct answer :
'u'k : [7) The expression : X2 + 8 X + a is a perfect square when a = --covoveee
Sz (2)-4 (b) 4 ©8 () 16
/ R (2] A die is thrown once s then the probability of appearance 7 on the upper face is -+

= @®=> OF 3 ©0 @3
‘ (B)IF (X +3)*P =1 s then X E-eveevveren
) (@R-{3} ) R-{-3} (© {3} (@R
+ (a]If the agte‘._of Kamal now is X years » then his age 3 years ago was -« years.
,_N (@ XxX+3 ()3 X ©) X—3 @6x
' (5] The multiplicative inverse of 11§ «-weeeees
' (@) 0 () 1 (©2 (d)3
g‘ 3'3'+'33+33= ...............
L (a) 3° (b) 3 (c) 312 (@) 3%

R LE [a] Factorize :
‘Q (19 x*-4 @)10y*-7y-12

2 E)*4x*+1
;; [b]Findthesolqtionsetin]Rfor:2x2—2xﬂ12=0
- ',’ [B¥ (2] Find in the simplest form : X %X”  where x50

[b] Factorize : 3 X—-21+aX-7a

@ [a] A numbered card is selected randomly from a set of similar cards numbered from 1to 15

5 J Find the probability of getting a card carries :
: ‘ ( (1] A prime number. (2) A number divisible by 3
N
L ) [b] If 2%~ 2 = 32 , then find the value of : X
C 0
&z A

" &
 Jaentl 6 e e Algll e Yy el (J9,Sal3 adgad ol aall 10 q,,.
aHERET | | cebefcBedad | ,

-
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5:‘ \_ Algebra and Statistics
) oancic oo 6
“ ‘( Answer the following questions : : Q
hy ’\ ¥ Complete the following : 1"&
N (UIfX:49=2:7 sthen X = reevnn A
S B 1£2X=8 » then X = -everrrerre ’,
&z * [8] The value of the expression : 3° + (ﬁ)m ~2 @Y st ' <
'l | (8]16 X211 X —10:= {2 K —ossssvvsne YiEduane +2) Q‘
. (BT 58 59516 amsseoing (in the same pattern) iy
‘Q Choose the correct answer from those given : oy 4
N (JHES5X=35sthen2 X+ 1 = coovvveveninas S
X (@ 7 ' (b) 8 (¢} 15 (d) 71 ‘Q
™ @) If5% =4 s then 5X = oo |
' - (2) 125 (b) 0.8 (©) 0.125 ) 0.08 75
BIEX2-32=16 5 y—X=2 sthen X+y= wroorrrn o ?
9, @4 . O ©-8 @2 )@
X A regular die is thrown and observed the upper face » then the probability of /e
;" appearance a number divisible by 3 is ----ooeeenen 1
‘-xe (a) i (b) 1 (©) -%— (d) X
' [E]Ifthe expression : x2+14x+bls a perfect square «,-thenb-—------—-------i‘ b ‘
‘& @) 2 (b) 7 (©) 14 (d) 49
EIH3%+3%+3%=1 ,then X = vt Ry'<
A @ -1 (0 © % @1 me‘é
',.\ | \_- [a] A bag contain a number of similar balls » some of them are red »?2 greens » 4 blues. ' / E
5'\ y If the probability of drawing a ball with green color is —é- g
Find the number of red balls. @
[b] Factorize each of the following expression : @
: (MD2x%+7XxX+3 @xz_sx

( |
é ( LE [a] Find the S.S. for the following equation where XER : X2 -8 X+ 12 =0 ﬁ‘
’ s . &
24 t [b] Simplify to the simplest form : (ﬁ) X (33 3
NN 3x(12) ¢ |
e :

W

sp‘eﬂ‘y ol Ay B Yy rodeld J»é'é a-ﬁw .ﬁb- a0}




Final Examinations / g

Answer the following questions :

D Choose the correct answer :

LB [a] Find the dimensions of a rectangle whose length is 4 cm. more than its width and

whose area is 21 cm? ' @

X x
[b] If 8 1;‘3 — 64 find the value of 4~

e El-Kalyoubia Governorate / Mathe Cupervision

A~ =

() Z™ (b) N (OR%
(2] The volume of the cube of side length 3 cm. equals - e

@9 (b) 12 (c) 27
(8) The expréssion : X% +4 X+ ais a perfect square when a = +--oee

(a) 3 (b) 4 (c) 8
(@) The S.S. of the equation : X2 — X =0 i§ --reerreees inR - '

@ {o} (b) @ ©{0,1} @ {1}
(5] If (X — 1) is one factor of the expression : X 2 _4 X+ 3 » then the other

factor is ---veeeeereeees

(a) X+3 b)XxX+1 () X-3 (d)X-y
@If(%)xz(%)z,thenx= ............... '

(a) -2 ()2 © % @3t

\_E Complete : . £ <‘

(I 7% 1 =3%"1 s then X = -vvoeverve = ' 'm‘f
(2] A bag contains 9 cards labled by numbers from 1to 9 » a card is drawn randomly » /A

then the probability that the card carries an odd number 1§ -+« ' g N
Blad+ 1 =g (romreemren o S R ) where a # 0 : '~
(4]1 - % = R — ‘@
B4+ +43+482=4""" . U]

[a] Factorize : p‘

@Mx2-y? @)y’ +8
[b] Find the S.S. of the following equation in R : X2~ X—-6=0 é
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Y Algebra and Statistics

@ [a] Factorize :
([MaXx-7a+3Xx-21 BX 5%
[b]If3%=27 , 4%*Y=1,find the value of : X 5y

4x+1 X 92-—x

a @ LB [a] Find in the simplest form : —@W__ » then calculate the result when X = 1
&
[* b] If one digit of the number 37450 chosen at random » find the probability that the
S g ty
& chosen digit is an even number.
&z

El _Monofia Govern o rate Kwaeeng Educational Directorate
Mathematice Qupervigion

‘Q Answer the following quéktions :  (Calculator is premitted)

» & Choose the correct answer from those given :

+ [1)0.002 x 0.05 = N

! N (a) 1073 (b) 1074 (c) 10* (d) 10°

' (2) The expression : (X -2 y) (x2+2x y+4 yz) equals oo o
(@ x3-2y° (b) X*>-8y? © X + 85 @ x3+18y3

9‘ (3] The value of the expression : 520 + 52! equals «+----ooo..

P (a) 5 x 5% (b) 5 x 5 () 6 x 5% (d) 6 x 521

J\Jx The value of the expression : 2° + (ﬁ )10 equals «:-seveeennes

‘Q (2) 2° (b) 2" ©(V5)" @ (12)"

(5] If the probability of choosing a boy from a class of 40 students is 0.375 » then the

number of girls is -+ veres

, (@35 (b) 25 (c) 20 (d) 15
Q ] (8] The solution set of the equation : (X —1)2=0inRis - -weerv- .
g - @f-1} ®) {1} ©{-1,1} @ {2}
s
Complete :

(1) The expression : X% —2 X +k is perfect square when k = -+-eeoeeve.
(2)If 3% x 27X =1.5 s then X = c-ovrrevreenee

Bfa?+b?=7 5 ab=3 sthen (a—b)?=rrrreeren
(B X(y—2)+L(y—2)=(y=2) (orreeeeen )

()" =(47)"

40




Final Excmincﬁorm/

\E [a] An'integer is added to its multiplicative inverse the result equals 2 Find the number.
[b] Factorize each of the following :
[M)3x%2-15Xx+ 12 @%x3—9
B)% x*+9x2+81

NMielhes W ewl)alynal)

+1 2-X
\! [a] Simplify : L;z_?c“ » then calculate its value at X =1

[b]Ifx:jg-— =z=gafindthevalue:x2+(x:c)2xy2

’ y=—v%

\E [a] A set of cards numbered from O to 10 , if a card is drawn randomly
s find the probability of each :

(1) Drawing a card carries odd number.

‘(2] Drawing a card carries a number divisible by 5

[b] Factorize each of the following :
[MJax-7a+3X-21 . (]9 x?%-25

] ' . : Official Languages Schoole
10) El-Gharbia Gove.rnorate / The Cantral Mathe Cuparvision

Answer the following questions :

i!l Choose the correct answer :
(MIEX2-2X-k=(X+3)(X—-5) sthenk = ---rrerrrerrre.

(2)-2 (b)-8 ()15 (d)2
(2] The expression : X% + 14 X + b is a perfect square  than b = s
(a)2 ' (b) 7 - (©) 14 (d) 49
(3] The solution set of the equation : X2 +9 =0 in IR is «evverrrees
(a) {3} () {-3,3} () {-3} (d) @
@If32+x=4x+2’then7x+2= _______________ ' -
()7 (b)-7 (c)-2 @t
. (8] In a mixed school there are 320 students. If the probability that the ideal student is
a boy equals 0.6 > then the number of girls of the school equals ----------e-- girls.
(a) 256 (b) 192 (c) 128 (d) 196
@H%: 1 sthenda—4b= e
(a) 8 (b) 4 (©)0 (d) 1

(1200 Y i / gsbae] ¥/ (ol oty yalwdll s 41

‘
8
S
a

A

N\




NMietbs e EDIEA] |

\_ Algebra and Statistics <§
[
LE Complete each of the following : ~
; X _25. ' : '
The solution set of - = % IR S oveeereeen @ w
7
@Ifx=(ﬁ—2) » y=('\f§+2) sthen Xy = «rovevvenens D)
By’ —a=-2)G*+2y+4) sthena= wrreererreee ﬁ‘
If (X + 1) is one of the factors of the expression : 5 X2 —2 X —7 » then the other ¢
fACtOr 18 1rrevrrereeeen )
@ 1-— --241-- — N SRR % <
| Factorize each of the following expressions completely : : Q‘
[Mx2+8x+15 @) x>-27 | 4y,
‘Q EB)2x?+7x+3 (lax-7a+3x-21 W
\_-[a]IfS :9 =64 , find the value of : 4% '
™ [b] Find the solution set of the following equation where XER : X2 -8 X+ 12=0
n 2n
B (a1 (1) Simpiity : T E
9 ‘ (2] Find the rational number whose four times its square equals 81
/\ [b] A box contains 3 red balls » 4 yellow balls and 5 green balls.
< A ball is drawn randomly from the box. Find the probability of the drawn ball is :
. A Yellow (2] Green (3] Not red
‘, =D i Directorate of Education
& @ El-Dakahlia Governorate / o
' A Answer the following questions :
7~ @ Choose the correct answer :
(JEX+y=8and Xx?-y2=12 sthen X —y = - e
(a) % (b) % () 4 ‘ (d)20
(2] The solution set of the equation : X2 —7 =9 inRis «+reeeevee
@) {4 ,-4} ) {4} © @ - (@ {16}
3 % 3% xa*
m =1 sthen X = «corerereveens
(2 (b) 3 | © 3 @=L




@If(xz— 10X + a) is aperfect square sthen a= ---cooreeermees

(@a)-5 (b) 5 (c) 25
(5] A cube of edge length = 6 cm. » then its volume = : _
(a) 12 (b) 24 (c) 36 (d) 216 p‘
& (B)TE2%X =5 »then 8% = vvvovvereveree ¢
S (a) 125 (b) 25 (c) 15 (d)20 \
e :
b \B Complete : ' §
/ o If?x'+5=3x+5,thenX= ............... ' Q!
. (2)1 _3_ £ = % 2 90
‘Q [l s g — = (= 2) LN =iz +4) b
.1fx‘2+1=x“2( ............... Sy A AR ) "- ‘f

(1)2x%-5x+3 @E)x3+x%2+3Xx+3
@l6x2-24 [@)8 x3+1

\El [a] Find the solution setin R : X2=9 X — 14

. 91’1 +1 % 81!
[b] Find the value of n such that : Wi 16

™
4
N _
,. Factorize completely each of the following :
V¢
S

‘Q LB[a]If3x=81and4x+y=1’thenf'mdthevalueot':Xay

_ [b] A box contains a number of similar balls 8 of them are red balls and the others are
¥ white s if the probability of the chosen red ball is %
> Find the number of white balls.

HH . Directorate of Education
a :
@ Ismailia Governorate el

Answer the following questions :

@ Choose the correct answer :

(1] The probability of impossible event = «--eveeeoe

@1 (6) 0 © 3 (d) @
@If3x_'2= 1sthen X = coovvrrennnn
(2) 0 ) 1 (©) 2 (d) 3

§
Y

jt

_‘..\_

FEEE] 31 i ge e gl Pt Wy el 135013 g
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= \.} 1 Algebra and Statistics i 3
(]
(3{25356} N {35455} =i Q
& @ {2} () {4} ©) {6} (@ {3} 8
.3 ;( @H4X2+12x+mis a perfect square s then m = --+ooeevee :\ w
\‘\' @39 (b)3 (c) 4 d) 16 PO
Le E)3%+3%+3%=3""" \-:g
fon .
gh @3 X (b) X° ©) X+1 @)X %
&= @hﬂlfﬁf26“ -------------- ‘ | \'
() 2 (b) 2° (e) 2" (@2* <
/N E
B Complete : qm
‘ (I 4% =7 ythen 4%+ L= s ’
; _ %<
o (8122 X4 %+ {9 = 5) = wreerrvvecsee.
* @(é)x:gl ’tﬁenX= ...............
™ Al \
) (@A) The S.S.inRof : X2+ 4 =0 is -vevveseene ’P
' (6] X(a+b)~y(@+b)=(a+b) (- ) ~ |
9 p, [a] Factorize each of the following : @ 7
. L\
(A)x%-11Xx+18 2)x3+27 1
[, (3)% 4 x*+y* Y/
o [b]1£2% =32 and 3V *! = 27 , find the value of : X —y ° x‘
‘& a [allf%%zm » find the value of X » then find the value of 2% 5)
Y [b] Find the SS.in Rof : X2 +4 X—12=0 ?&
’ i /
@ : 1)
Q) [a] Factorize : . |
=Y (M4 x2-9 (2)5X+ay+S5Sy+aX ®
A [b] A box contains 5 red balls » 3 white balls and 3 blue balls. If a ball selected randomly ' 8
{ »find the probability of getting : | @W
J ( (1] A red ball (2] A red or a blue ball N
é\ (3] Not a red ball Y
Le | | 2
Q )
:; 44 é:
4n;

-
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C Final Examinations :
_ g [
@ El-Beheira Governorate helka Diectorshe '
< / Mathe Qupervision. - @
;,E 7 A e \ w
é \( Answer the following questions : : ’ 0
'd\ ’ ;
v f’ E¥ Choose the correct answer from the given ones : S ¢
gx' B ) e —. : 3
&= (@) X*+4 (b) X*-4 ©X2+4X+4 (d)X*-4X+4 ‘1
@sx_.:zs s then X = -seeererenenes ' §
(a) 1 - (b) 2 () 3 @) 4 - Q!
(3] The S.S.of : X% + 64 =0 inRiis -ovvves an

(a) {4} (b) @ © {-4} (@) {4 .—-4} » /
[@TF 9%+ 1 =2%+1 , then X i --woroee s Y
(@l (b)—-1 0 (d)2

™
+
,\0 (8] 3% x 3% x 3% = .wtticinsanes
' (a) 33X (a3 E! (c) 3%+3 (d) 93%
%4
i
R

(8) If the expression : X2 + a X + 25 is perfect square » then a = «-.cuueees
(@) 5 (b) 10 (c) 8 (d) 18

\B Complete each of the following :
MIfX+y=2 s X-y=8 ,thenxz—y2= ...............
ELY e 8% % e e ) (X2+3X+9)
(B)If6° " 2=1 sthen n=crerveereens

Third the number 3% is :
. - 2
- "y, (5) The number (‘\E ) in the simplest form is e
X+1 2-X .
(" \-E [a] If simplify : ol 1 » then find the value answer when X = 1
= N ) (6)2 X

[b] Find the S.S.in Q: X?-X=12

LE [a] Factorize :

M3x2+7x+2 (Blax-7a+3XxX~-21
[b1If3*=27 , 4%*Y=1,find the value of : X and y

P
P
~J
0 LB [a] The length of rectangle more than its width by 4 cm. and its area 12 cm?
: i » find the dimensions of the rectangle.
&

\Q




' Algebra and Statistics

[b] A card is chosen randomly from ten cards numbered from 5 to 14 »
What is the probability that the chosen card is :

An even number ? (2] A prime number ?

El- i ver ¢ El-Menia Educational Directorate
@ -Menia Governorate Minia Kawmia Language School

Answer the following questions :

i!l Complete the following :

(1] The solutmn_ set of the equation : X2%2_-1=8 »where XE Z+ $cspmesseasins
(BJIf 3% *=1 ,then X = mrrrireee
(3] The S.S. of the equaﬁon:x2—25=01n1'gis ...............

@If('%')x=% at!flCDX: ...............

(5] The volume of a cube of side length 3 cm. equals ... cm’

\_E Choose the correct answer :

(1] The S.S. of the equation : X (X —2) =0 in R is ----erveee

(2) {0} - (b) {2} ) {0 ,2} () {0 ,-2}
Eix3y -8-,-thcn—y-— ...............
(8).51> ®) & © 5 @2
(8] The expression : X2 +k X +36isa perfect square when k equals «eoveeosee
(a) 6 (b) 8 () £12 (d) =18
@+ +4834+43=
(@) 412 (b) 162 ©) 162 (@ 16
@ If the probability of success of a student is 0.75 , then the probability of his
failure iS «-eeeeveerenes
(a) 0.20 (b) 0.25 (c) 0.30 (d) 0.35
(8] If (X — 1) is one factor of expression : X —4 X + 3 » then the other factor is - ..«
(@ X+3 (b) X+1 (c) Xx-3 (d) X-y

Y [a) 1£ 8 x9"—64411";1 L X

[b] Find the S.S. of the equationinR: X2-1=8

NMielhes W ewl)alynal)




Final ExominofionS/

@ Factorize each of the following expresions :
(MJax-7a+3X-21 (2)x3+8 (B)Xx%-x-6
([@)4x%-9 - (5% X*+324

LE [a] If (3)* 2 =9 , then find the value of : X

[b] A colored marble is drawn randomly out of a box containing 12 red marbles
» 18 white marbles and 20 blue marbles.
Find the probability of selecting :
A white marble. " [2) A yellow marble.
(3] A red or blue marble. (4] A non red marble.

Governo Aewan Educational Directorate
‘b Aswan Governorate R R e ool

Answer the followmg questions :

D Complete each of the following :

@(._:ﬁl_)ﬁ= ...............

@Ifx+y=53ndx—y=4 ,thcnxz_y e

(3] A regular die is thrown once and observed the upper face » then the probability
of appearance number divisible by 5 is «:---oeeeeeo-

[@) X3 —svsincnesns = (X =2) (eeevereerenees +2 X+44)

LE Choose the correct answer from those given :

(1) The S.S. of the equation : X2 =X =0inRis oereeeeeeeens

() {0} (b) @ ©{0,1} @ {1}
(2) The probability of the certain events is - :
@5 (b) 0 © @ (d) 1
(3] If 5X=4 ,then 5%~ 1 equals -eeeeeeeerees
(a) 1.25 (b) 0.8 () 0.125 (d) 0.08
(@) If3*=5and 3 =4 s then 3%*Y = s »
(a) 15 . (b)20 )9 @1
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\ Algebra and Statistics

(5] The value of : 25 + (ﬁ)m F s wemsammssmnss

" i 15 ' 20 A 9
(a) 2 (b)2 ©(12) @ (V2) 5
B+ =)= A
ALY
(a) 2 (b)0 © 1 (d)—1 ’” Q
X1 P
3 2P%T_ g . 2.
\_.[a]lf(s)v = sfind: X | )
-/
[b] Find the solution set of the following equation where XER : X2—-6 X =0 ‘ \.
< \_E [a] Find in the simplest form the value of : (V_) Q{.—) | S
/1D (13) | X
4 [b] A box contains a number of similar balls » 2 of them are green » 4 are blue and the rest q P,
are red » at choosing one randomly » and the probability of the drawn ball with green a' 7
 color is -« + then find the number of red balls. e
\_E Factorize each of the following expressions : ‘&
Mx2+8X+15 (2)25 x2-y? ;p
@x3-8 (4)18 y*— 12y +2 - '~ |
(5% 81 x*+4 2 @.

el s @Y=

C\.\‘_

-
N =




Some Schools Examinations on Algebra and Statistics

Eact Naer City Zone
Manaret Heliopolis €chool

Cairo Governorate

- Answer the following questions :

[€) Complete each of the following : -
(1) The probability of the impossible event is -+
@aX+by+bX+ay=
(3) Fifth the number 520 ig oo
@If3%=5 sthen (27) X = oovvvvvvnnn
(5) The solution set of the equation : X 2 1= 0in RS weovveeeenees

[E] Choose the correct answer :
(1) If the probability that a student succeeds in a subject is 0.8 s then the probability of his

failure is - -eeeveeeee-
(@0 (b) 1 (c)0.2 (d)0.8
@IfF6* =7 sthen 6 X 1= o,
(a) 42 ) Z ©1 (d) 6
(3)43_,.43.,_43.,_43: ............... v
() 4 (b) 4° () 4 (d) 48!
(4) The solution set of equation : X 25X +4=0inRis e :
(@) {1,4} ® {2,-2} ©D @ {1}
(5) A die is thrown then the probability of appearance number 7 is -
(@0 (b) 1 © 2 @1
(B *If X 2 + k X + 25 is a perfect square s then k = --eeveeene
@5 (b) 10 () £ 10 ()5
[a] Factorize each of the following completely :
M*%3a2+7a+2 (@51+10m+a2+2am
[b] Find the value of the X in each of the following :
(D (X-3)" =128 @4** 1=1024 @ 5% =1

[a] Simplify each of the following :
(BB E) ey
() <) I

@
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[b] A bag contains balls labeled by the numbers from 1 to 15 if a ball is drawn at random
Find the probability that the drawn ball carries each of the following :

(1) An even number. (2) A number divisible by 3. (8) A prime number.

[a] In producing 600 electric lamps » if the probability of the defected lamps is 0.05 »
then find the number of the good lamps and also the number if the defected.

[b] Find in R the solution set of eélch of the following :
M X?2-9=0 @ X?=5X% @3X=-

Zietoun Educational Adminietration
Gomhouria language echool

Answer the following questions :

Choose the correct answer :
@If6x =7 o then 66Xt =

(a) 8 (b) 13 ' (c) 36 (d)42
(2) If the expression : a X 2 412X +9is a perfect square sthena= -
(@) 3 (b) 4 () 9 (d) 16
@IXy=3 5 (X+y)?>=16 sthen X2 +y* = cooirireen
(a)4 (b) 10 (c) 13 (d)8
(@) If aregular die is tossed once then the probability of appearing the number 7 = -oooooves
(a) + OF ©1 @0
()3 % 4 3° 1_ (V_l__)z = e
()3 O © % ()0
®*IEX+y=3 > Xz—Xy+y2=5,thenX3+y3= ---------------
(a) 15 (b) 25 ©)8 \ @7

Complete each of the following :
(1) If three times a number = 3% , then % this number = ..............
@IfX+y=7anda-2b=4then the numerical value of the expression :

a(X+y)_2b(X+y)= ...............

@)If(%—)xz 21 s then X = ceeereereenn.

8
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(@) A class has 50 students (boys and girls) » if the probability of choosmg a girl randomly
is 0.6 » then the number of boys = -------eoeev

., ®Ix’y’=8 ,then—x= ...............

[B] [a] Factorize each of the following completely :
D% 9-y? @ 4x%+81y*

()

[a] Find in R the S.S. of the equation : 3 X% +15X-18=0

) )}
[b] If2%-2% = Find the value of ;: X

[b] Simplify to the simplest form : (3 X-lyp X+l gX-1

Y| [a] A positive real number » if its square is added to three times of it then the result equals 28
Find this number.

[b] A box has 15 regular balls » 3 of them are white s 9 of them are black , a ball is
choosing randomly.

Find the probability of the drawn ball is :

(1) Black. (2) Not white and not black.
. N
Cai Governora te New Cairo Zone
airo Manor Houge Language Cchool 7
DS 52 s S R e S R T s e " _.

he followmg questwns

Complete each of the following :
@Ifo 221 sthen XX = ooereermeenns |
(@) The S.S. of the equation : X2~ 16 =0 in Ris ...............
(3 The number (W/E )_ ) in simplest form is ...............

(4) Bag contains 5 white balls » 2 black balls and 3 blue balls » if a ball was taken
randomly » then the probability of this ball is black or white is -+

@Ifx:(ﬁ—2)7andy=(\/§+2)7,thean= ............. .

Choose the correct answer :
6)If(X—2)O =1sthen X 7# ---coreereene

(@) 3 (b) 2 (c) 1 (d) -3
@If5%=4,then 5% 1=
(@125 (b) 0.8 (c) 0.125 (d) 0.08
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(3) Ifx = % 9 then X"l e
1 . -1
(a) 2 (b)-2 (c) 5 (@)=
(a) The probability of occurrence of an event is 80% » then the probability of non-
occurrence of this event is -«

(2)0.2 (6)0.3 () 0.4 (d)0.8

v S\
(5) (g) = e
9 9 5 5
(8) % If the expression : X 2 +7 X + a can be factorized » then a may be equal to oo
@3 (b) 10 () 18 (@) 49

Find the S.S. of the following equations in IR :
[a] (DX%>-7X+10=0 @X>-9X =0

blIfa={3 » b= find the value of : a* + b~ *

3

(&) [a] A numbered card is selected randomly from a set of similar cards numbered from 1 to

30 , Find the probability of getting a card that carries :
(1) A number divisible by 4 (2) A number divisible by 6
(3) A number divisible by 4 and 6
[b] Factorize the following :
M x* +64y* @a’-ab® —a’b+b’ @) %8 Xx°-125

[a] If the length of a rectangle is more than its width by 5 cm. and if its area 36 cm.
find its perimeter.

9x X 8X
18%

[b]If = 64 , find the value of : X

Dokki Dietrict
Modern Narmer language echool

4 Giza Governorate

Answer the following questions :

Complete each of the following :
(D If X =3 is a solution of the equation : X% +2X+k=0 thenk= oo

(2) The solution set of the equation : X 2 44 =00nRiS e
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(3) The quadratic equation : (X + - ) (3 X~2)=0is equivalent to ------- o ~10=0
@ I£3%72 =27 sthen X = oo

(5) There are 21 boys and 15 girls in a classroom » if a student is chosen at random
, then the probability that the student is a boy =+

@ Choosé the correct answer :

(1) The solution set in R of the equation : (X — 1)? =0is

(@ {0} b) {-1} © {1,-1} @ {1}
@1st +3%X43% 1 Lthen X = oo

(a)-1 ®)0 (©1 (d)2
@) 32 equals R

(2) 9 ®) 5 ©-1 CIRR
@212 %312 =

(a) 67 (b) 6* (c) 612 (d) 62
(5) A die is thrown once » then the probability that 5 appears is -

(a) - -g— (b) zero (c) % () %
(8) % The expression : X2 + a X + 2 can be factorized s then a = oo

@1 (b) 2 © 3 (d) 4

@ [a] Solve in R the equations :
(DX*-x-12=0 @X(X-2)-22~-X)1=0

[b] The length of a rectangle is more than its width by 5 cm. If its area is 36 cm?
s then find its dimensions and its perimeter.

4X +1 X 92 -X
[ﬂ) [a] Simplify : X » then find the value of the answer when X =2

[b] If the sum of the square of a positive number and three times this number is 28 ~
» then find the value of this number. '

B (2] Find the value of Xif : 32%-3 =243

[b] A bag contains 20 balls numbered from 1 to 20 »if one ball is drawn at random
s then find the probability that :
(1) The number is a multiple of 4

(2) The number is less than or equal 7

(N0 XL 5/ esliel ¥/ (oG el walsdl s | 44
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Omranea Direction
Baraem Mier Language School

Giza Governorate
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Answer the following quéStions :

Choose the correct answer :
() The S.S. of the equation : X*— 1 =8 inRis -

@@ (b) {3} ©{-3} (@ {-3,3}
@I 6X=T7 sthen 6 X+ = v
@8 (b) 13 () 36 (d) 42
(®) If a die is thrown once » then the probability that the number 5 appears is -
(@) 2 b) & @1 @ ¢
@1f7%X3=5%"3 sthen X = oo
@35 ()7 )3 @0
®22x 3=
@6 (b) 6° (06" (d) 6*
(8) % If the expression : x2 + 14 X + b is a perfect square » then D= e
@2 ()7 (c) 14 (d) 49

Complete each of the following :

@ (%)x 2L then X = e

(2) The solution set of the equation : X 24 9=0inRis e

(3 If the probability that a student failed is 7% » then the probability that this student
succeeded 18 «--oerrreeeeees

@)If?)'x: 81 sthen X = «--eeerveeeeens

(5) The age of a man now X years» then his age 7 years ago is - years.

[a] Factorize each of the following : _
(1) % 8 X*-50 @ X*+4y
1

[b] If a real number is add

DB h 2de v ww e, :
ed to its square the result will be

[a] Find in Q the solution set of :
MHX*-x=12 @4Xx%-25=0

8X><9X

[b] If
18%

=64 5find : X

(o)
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¥ [a] A box contains a similar balls » 8 white balls » 5 red balls and 7 black balls s if we
choose a ball » then find the probability that the ball is :

(1) White. (2) Black or red.
[b] Find the value of Xif : 2X-2=16 4

Eactern Educational Zone

Alexandna Go ernorate Taymour English Cchool

r the followmg questwns

. Complete the following :
MIfa= \/? s b= V_,thenthevalueof~— ---------------
® (10)* x (10)7 _
(0. 1) x 0.001

(3 A numbered card is selected at random from a set of similar cards numbered from 1 to 24
» the probability of getting a card carries a multiple of 4 ig -+------...

@Oa2-4bH)=GBa— ) (e +2b)
B X+3y)2=X24 e, +9y?

Choose the correct answer :

(D If (X + 3) is a factor of the expression : X2+ X — 6 » then the other factor is

(@) (X-2) (b) (X-3) (€) (X+2) (d) (X +6)
Ca)]:f3x=27 ) 4X+yz_-1,theny= ...............
(a)0 (b)3 -3 (d1

(@ The S.S. of the equation : X2 —3 =0 in R is «--rrrreeee-

@{3,-3}  ®{13} ©9 @ {3 45]
@(G+12) (F3A42) =

@1 ©1s @16 @s -
(8) Which of the following may be equal the probability of an event ----.. AR
(a)-0.73 (b) 1.23 (©) 79 % @ 5
@%IFX>+27=(X+3) (X2+k+9) sthenk = eerrrerrern
(aA)—-6X (b)-3X (©)3X doex
4" x 621
<} [a] Simplify : Ty
“ _2_ 2X+1 3 _8_
[b] Find the value of X : (2)7 = 2

PRl
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Factorize each of the following :
X +2°-4x-8 (@a*+2ab+b>-c?
(@) % 52°-18 a+ 16 @Xy+5y+7X+35

) [a] Find the S.S.inR:2 X’ =18 X

[b] A person shoot at a picture in g
the opposite figure then find the
probability of hitting the shaded part.
. Mid Zone
Alexandria Governorate Cupervision of Math
Answer the following questions :
Complete each of the following :
(1) The simplest form of the expression B x22 et =
(2 The solution set of the equation : X 244 =0inRis e
@IEX-5=0 sthen X = e
(@ If2% =3, then 8X = i
(5) Subtracting 2 X from 5 X gives oo
Choose the correct answer :
(1) We can use factorizing by completing the square to factorize -
(@) X% -y’ ) x* -y’ © x> +y° () x* +y*
(2) A die is thrown once » then the probability of appearance 5 on the upper face is oo
] 1 3
(@)% (b) & (©)0 (@ 2
sy o2 R
@I (3) =25 »then X =
(a) -5 (b) -3 (c)3 | (ON
(@) If the age of kamal now is X year » then his age after 5years is «ooeeeeeeen
(@) X+5 (b)5 X () X-5 (d)10 X
(5) The number has no multiplicative inverse ig -
(2)0 (b) 1 (©)2 (d)3
Ok3 X2 hom s
(a) 4 - x? (b) (X -2)° (© (X-2)(X+2) (@) (X-4°
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[a] Factorize : (1) X* + 4 {4 (@) * % a>—8b>
[b] Find the solution set in R for : 6 X 2_x=22
5 3
(/3) <(3) ~
4
(V3)

[b] Find the positive real number which if added to its square the result will be 12

[a] Find in the simplest form :

[a] A numbered card is selected randomly from a set of similar cards numbered from 1 to 24
» find the probability of getting a card carries :

(1) Odd number. (2) A number divisible by 3
[b]If 3X~*=1 , then find the value of : X |

Cupervigion of Math

Answer the follow_ingqués't‘ibns i

Choose the correct answer :
(MDIf2%X=5 sthen 8% = v

(a) 40 (b) 10 (c) 16 (d) 125
@)If;c—jE@ s then X & «-rveerenen

(@5 (b)-5 ()7 (d)-7
(3) The solution set of the equation : X 25X —6=0inIRis e |

(@) {253} (b) {2 >4} (©{1,-6} (d) {156}
@+ +43+43= s

(a) 4 (b) 4* (c) 412 (d) 481
G I (X~ 5% =1 5then X E wrrorrvveeee -

@R-{5} ®R-{-5} © {s} (DR
@)%Ifxz-—y2=12 s X—=y=3sthen X +y= e

(a)3 (b) 4 (c) 12 (d) 15

[B) Complete each of the following :

DX+ +2(y+3)= (e Y (e )
(@25 % of LE.320is LE. ovevvee

)
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(@ If a die is thrown once » then the probability of appearance of an even prime number
1S vverenrrrenns

(a) The solution set of the equation : X 244 =0inNis e

(5)3(x2y3)zer°= ............... (Where X y # 0)
. 411)(6211
l [a] Simplify : ———
[] p y 24nx32n .
[b] Factorize : () Xy +5y+3 X+15 (@ %4 X220 X+25

(4 &) If(v_g)n+2=9 » find the value of : n

[b] Factorize : (1) X* + 4 y* @ %y -T7y-8

[a] If a card is selected randomly of 30 cards in a box numbered from 1 to 30
» Find the probability of getting : ‘
(1) A card carries a number divisible by 5
(2) A card carries a prime number less than 20

(8) A card carries an even number.

[b]If X=3 > y=12,find in the simplest form the value of :
A =2 4 xX\3
MX" "y @ ( y )

Directorate of Education

El-Sharkia Governorate Dep. of Governmental L.8choole

®

Ans wer the Jollowing questzons
Complete each of the following :
M3 2=27 sthen X = -oovevvveon

® (—?2)0 e

(@) The S.S. of the equation : X%+ 9 =0inR 5is oo
@I6%*=3then6 X 1= |

(5) If the probability that a student succeeds in a subject is 0.8 » then the probability of his
failure is «-ooceeooevveee .

Choose the correct answer :
o If -2-9-66-+ 1=14 ythen X = e

(a) 2 (b) 10 (c) 13 (d) 20
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(2)If32n—5=1 sthen 2 n=-ccoereeenn :

(@5 “ (b) ~10 (c) 10 (d) zero
(3) A die is thrown once » then the probability of appearance number 7 is -+
(@ + (b) zero © + @1 ‘
(@ The value of (2)%° + (2)* = v
(a) 24 (b) 4 (c)3 x 2% (d) 3 x 2%
(5) If (X + 3)Zero =1 ) then X E ...............
()3 (b) {-3} ©R-{3} @R-{-3}
@ FIEXZ+kX~-21=(X=3)(X+7) sthenk = rveeen
(a) -4 (b) 4 ()8 (d) 20
[a] Factorize each of the following expressions :
DX3+2xX2+4Xx+38 @ *25a%-1
3V 2L 27 g .
(b11f(2)" "=-2L Find the value of : X
[a] Find in R the S.S. of the equation : X (X +4) (2 X-1)=0
8% x 9% :
[b] If [oX = 64 Find the value of : X

[B] [a] Selecting randomly a card out of 40 similar cards in a box numbered from 1 to 40
Find the probability of getting a card carries :

(1) An even number. (2) A number is divisible by 3
(3) A prime number less than 20 (@) A number is not divisible by 10

Mathe Qupervicion

~. ,«An’sﬁfer the following questions :
Complete each of the following :
) IF3X 1227 s then X = v overenens
@IF(X-5°=1sthen XE-ovvvvv
@a+b=2(X+y)=14sthena (X+y)+b (X +y) =
| (4) The probability of impossible event = -+

(5) If the perimeter of square X cm. > then its area = -+
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Choose the correct answer :
(DI 6X=7 ,then 6X+ 1=
(a) 8 (b) 13 (c) 36 (d) 42
(2) If the product of multiplying four by a number equals 48 »
then the third of this number = oo

(a) 4 (b) 8 (c) 12 (d) 16
(3) The value of 2° + (V_2— )10 = e,

()2° (b) 2" ©@2) @ (2)"

(@) The S.S. of the equation : X3+9X=0inRis e

(2) {0 53} (b) {0} (©) {053} @ {0,3,-3}
®If2%=5sthen 8% = oo
(a) 2 (b) 25 () 125 (d) 1%‘-‘5
@ %Iy —a=F-2)F2+2y+4) sthena= o
(a) 2 (b) 4 ()8 (d)-8
[E} Factorize :
('1))(4+y4——113(2y2 @9IX%2-42%+y°+6Xy
@3x3-2x%+12x-38 @%25x%-30X+9

[a] If the length of a rectangle 5 cm. more than its width and its area 36 cm?
Find its perimeter.

[b] If (\/‘%)x = % Find the value of : (—%—)x— :

X-1_ oX
[B) (2] Prove that : @7~ " x8 _ 1

(2 3)2xx(3ﬁ)2x” 27

[b] A team plays 30 matches in national league » its drawn probabiiity is 0.3 and its win
probability is 0.6 Calculate the number of loss matches.

Directorate of Education
Elmanar Language School

Ismailia Governorate

Answer the following questions :
Complete each of the following :

(1>4a(X+Y)“‘3b(X+Y)=(X+Y)( ............................... )
(2) The S.S. of the equa,ti__on:X2+3X=OinRis ---------------



Final Examinations

(3) If 3X =27 sthen X = - -oveeveeen.

(4) The probability of impossible event is -

(5) If the probability of absent pupils in a school is -i% » then the probability

of present pupils is «---oovoe-

Choose the correct answer : '
DIEX =5 =1 sthen XS

(@ R-{5} (b) R-{-5} (© {5} (@ R
() The S.S. in R of the equation : X 2425 =018 e

@ {5} ) {5,-5} (©) @ @ {-5}
@ If55=2 5then 55+ 2= oo,

(a) 25 (b) 2 (c) 50 (d) 100

(4) A bag contains 20 balls » 8 out of them are white and the rest are black then the
probability of drawn ball is black is oo

(a) 1 (b) 0.6 © 0 () 786
(5) Which of the following can be probability of an event -+

(a) 1.2 (b) fg— ©)-02 (d) 37 %
@ FRIFX2—a=(X=3)(X+3)sthena= e

(a) 3 (b) =3 ©)9 (d) -9

B} [a] Factorize : (1) X* -3 x%+6Xx-18 . @%*3x°-81
2 2X-1_ g ) .

b1 (2)" = -2 Find the value of : X

[a] A positive real number if you add its square to its three times the result will be 28

find the number.

[b] Find in R the S.S.of : X2 -8 X=-15

[B] [a] If a card is chosen randomly from 10 cards numbered from 1 to 10
s then the probability of chosen card is :

(1) Even number. (2) Divisible by 3
(3) Even prime.
QX 1x8* 1

ey i) T

[b] Prove that : >

A I e
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Damietta Governorate Inspection of mathematics

Answer the following questions :

Choose the correct answer from those given :

D37z s
(@) -9 (b) -é- (©) - % @9
@V 100 =64 = 10 — -cooeevveeeess
(a) 4 (b) 6 (©8 (d)-6
(3) If a coin thrown once » then the probability of appearing tail = oo
()1 (b)0.3 (© 0.5 ) 0
(a) The solution set of the equation : X 2419 =0inRis «evereees
(@) {37 () {-3} ©) @ (d) {3 ,-3}
@)43+43+43+43= ...............
(@) 4° (b) 4° (c) 4" (d) 4%
(8) % The expression : a X 2 _ 40 X + 25 is a perfect square when a = «ooeeeee
(@2 (b) 4 ©9 (d) 16

Complete each of the following :
(1) If the probability that a pupil succeed is 0.8 5 then probability of his failure = «---ooe:
@)If7X= 1 sthen X = «eorreeeeeees
@)2X6—-8 4=
(@Ifzxz 5 ,then 2™ X = oo

@Ifx—y=3andx+y::4 ,thenxz__yzz ...............

() <)
)

[b] Find the solution set of the following eqﬁation inR:XxX%*-8Xx=-15

[a] Simplify :

: [a] Factorize each of the following expressions :
M % xX*-4y° @ x*+4y
[b] Find the solution set of the following equation inR:3*"*4=9

N



Final Examinations

Y

4 4
[a]Ifa =1/5 > b =1/— » find the numerical value of : EZ —~ a2
+a v
[b] A box contains 5 white » 2 red » 3 green balls » a ball is drawn randomly from the box
Calculate the probabilities of the following events :

(1) The ball is white. (2) The ball yellow. (3 The ball is not red.

General Mathe Supervision

El-Beheira Governorate

Answer th\eifb:llo:wing questions :
Choose the correct answer :

(v If four times a number is 48 » then one third of this number equals ..

(a) 4 (b) 8 (c) 12 )16
@P+4+84+483=

@) 4 (b) 4* (0) 42 (@ 4"
@If6%X=7 sthen 6X* 1= oo

(@8 (b) 13 (c) 36 (d) 42
(a) If 2 is a solution for the equation : X2—5X+a=0 thena=-errrn

(a)-3 (b)-6 () 6 d) 3
@)Ifx(x—2)2=0 sthen X E o voovereenne

(a) 12} ) {0,-2} @) {0} ) {02}
(&) % The expression : X 2 _3 X + ¢ can be factorized s then ¢ can be equal to <o

@1 (b) 2 (©)4 (d) 6

[B) Complete each of the following :
_ 2
(1) The simplest form of the expression : 227 + 271 — (i) =

2

@IfX+y=5sa-2b=4,thena (X+y)—2b(X+y)= e '
(3) If the age of Zyad now is X year s then his age before 3 years was ... years.

@1 x=2+3) sy=({2+3) »then Xy =

(5) A die is thrown once s then the probability of appearance odd prime number is ...

[a] Find the S.S. of the following equationin R : (X-3) (X+ 1)=5

[b]r Find the positive real number if we add its square to its three times the result will be 28

(51 ]
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2V _ o1
[ﬂ] [a] If (§) =2 7z’ then find the value of : X
4" x 60

24[1 % 32[1

[b] Simplify to the simplest form :

[a] Factorize each of the following :
Ox3-x2+x-1 @% X2-5Xy-24y2
[b] A team plays 30 matches in a general league » its draw probability is 0.3 and its win
probability is 0.6
Find : (1) The expected number of draw matches.

(2 The expected number of lose matches.

Directorate of Education
Supervigcion of Mathematice

Aynsweiﬁi‘the‘following« questwns 2
Choose the correct answer :

(le%=1 sthen4a—4b= .

(2)8 (b)4 (©1 (d)0
(2 If the probability that a pupil succeeds is 0.7 » then the probability of his failure
1S crereeeienns
(2)0.7 (b) 0.07 ()03 (d)0.03
(® If the age of Ahmed now is X years » then the square of his age is - years.
() X2 (b)2X (c)2x? d)X+2
@12+ (=1 = e
(@0 (b)—2 ()2 (d) 201
GG a)= saZ0
()5 (b)a (c)5a @1

(B)*Ifx-zy=3 9 X2_4y2:21,thenx+2y= ...............

(a) 14 (b)9 ©7

deo

Complete each of the following :
™ % e, %
@Ifa=7% 5 b=7" ,thenaxb= i
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@23 %2243 =
(&) The solution set of the equation : X 2 _6X=0inIRis e

(5) If a fair coin is tossed once » then the probability of appearance of a head = -----ooo

[a] Factorize each of the following completely :
(1)36 - 60 k + 25 k? @ XxX* + 64
[b] Find in R the S.S. of the following equation : X> + X =6

(5)° < (45)
()

[b] A regular die is thrown once Find the probability of the appearance a number :

(1) Even. (2) Between 0 and 6 (3) Prime.

[a] Simplify to the simplest form :

[a] Find in R the S.S. of the following eQuation 1203 = %

[b] Simplify to the simplest form : 4 s then calculate its value at X =1

Aswan Educational Directorate
MM. Yackoub Language Experimental echool

Answer the following questions :

Complete each of the following : ‘
MIfa(X+y)-b(X+y)=15and X+y=5sthena—b=-vvieer

3
(2) The multiplicative inverse of (— —2—) IS reeveeneree

3
@2+ 2= %
@I3%X2=1 sthen X = ovoverevn
@)Xz—X=X( ............... ) -~

Choose the correct answer :
(1) The S.S. of the inequality X <0 in N is - e
(2) {0} b {-1} © @ @N
1/—5_ 2
(5)

€)

Ok OF ©3 OF

=




Algebra and Statistics |

@IFX3y?=8 sthen L = oo

X
(a) 312 (b) 3 (c) 5 (d) 2
(@) The S.S. of the equation : X (X —2) =0 inRis -eveees
(2 {0} (b) {2} ©{0,2} @ {0,-2}

(3) If the probability that a student succeeds in a subject is 80%
» then the probability of his failure is oo

(a) 0.08 (b) 0.02 ()02 (d)0.8
(&) * If the expression : X 2+ 14 X + b is a perfect square sthen b = -ooveveee
(@) 0 (b) 49 (c)+9 (d)7

X o aX
[a] If : 8(1;i = 64 , find the value of : (4)‘X

[b] Factorize : (1)9 X2 -3 X @) % -9 x%+25

[a] A regular die is drawn once » find the probability of the following events :
(1) Appearance a number divisible by 7

(2) Appearance a prime number < 4

[b] Find in R the S.S. of the equation : X (X-2)-3(2-X)=0

[a] Factorize :
(MaX-Ta+3Xx-21 @*%3x2+7y-6

[b]If 3% =27 ,4%X*Y =1, find the value of each of X and y
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- Cairo Governorate

Ain Shame directorate

Answer the following questions :

&8 Complete :

) 3\ 2.
(1) The simplest form of (—5—) 1S weoereeeens

(e)Ifzx,+2x='1,the'nx_: ............... .

@ The S.S. of : X249 =0 inRis e

(a) A die is thrown once s then the probability of appearance of an add prim number

(a) 3° (b) 91 (©) 9
(@ The SS.of : X(X-2)=0 sinRis ooeveeeeee
(@) {0} ®»{2} . ©{o,2}
@If-2isa solution for the equation : X 2_3X=k sthenk=
(@) - 10 =10 (© -2
@ IfX2+kX+36isa perfect square trinomial » then k =
(a) 12 ®-12 ©0
©F x (43 ) = <
()36 (b) 310 ©(13)"

(dy 314

@ {0,-2}

D (2] Find in R the SS.of : 2 X =8 X

41’l+1 x92—l’l

[b] Simplify : =—_

s then find it value at : n =1

[ﬂ] Factorize each of the following completely :
ML*+ 4 m* (®aX+bX+ay+by
(é)%L3+9 @7 2% +23a2b— 30 b>



Algebra and Statistics

(@ [a] A rectangle its area is 14 cm? and its length is 5 cm. more than its width.

Find its perimeter.

[b] A numbered card is selected randomly from a set of similar cards numbered from 1 to 30

Find the probability of getting a card carries :

(1) A multiple of 6 (2) Anumber is divisible by 25
(3) Apositive integer less than 30

Rod EI-Farag Educational Zone
Ct. Mary'c CSchool

Cairo Governorate

T R Y e PR IR

Answer the following questions :
Choose the correct answer :

(1) The S.S. of the equation : X2 — 1 = 8 in R s -+-rveeee

()@ ) {3} ©{-3} (@{-3,3}
@If6%=7 sthen 6 X1 = oo, '
(a)8 (b) 13 (c) 36 (d)42
(3) Let X2+ Kk X + 25 be a perfect square »thenk = ----- e
(@5 (b) 10 @5 (d) 10
A _(4)'.The‘valu_e of the expression : 35+ (Vg)lo 2B = e
(2) zero ®3° ©(f3) @26)°
(s Ifadieis tﬁrown once » then the probability of appearance 5 on the upper face
TR
@2 (b) zero ©1 OF
Complete :

D If2%=32 5then X = wwvvvvvveens
@A4Y+4Y +4Y +4Y =1 stheny = oo
@IF5%3=1 5 then X = oovvvveveeens
@DaX+bX+ay+by=(a+b) (- o )

CS)IfX=(V§+6)9 ’ y=(’\,-§+6)_9,thean=. ..............
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&l [al Factorize: 3aX-a-6bX+2b

{b] Factorize : X 44 x? y2 +25 y4

’ X+2
[a] Find in IR the S.S. of the equation : (%) = —1%

{b] The ratio between two positive numbers is 2 : 3 and their product is more than twice

the greater by 12 5 find the two numbers.

o Xo1-s ronX
[ [a] Prove that : @7 x(®) - L

) =)

[b] A bag contains balls labeled by the numbers from 1 to 24 ,if a ball is drawn at random.

Find the probability of each of the following :
(1) The drawn ball carries a number divisible by 5

(2) The drawn ball carries a perfect square number.

-~ Additional question 20000000500009000000009900005009000000900L 0G00I
¢ [g} Choose the correct answer :
MIEx3 -y =24 , x>+ Xy+y*=8 ,thenX—yz ~~~~~~~~~~~~~~~
(a)4 (b)6 (©3 (d) 12

(@) If (X + 8) is a factor of the expression : X 246X —16 5 then the other factor

() X—2 byx-4 (©)X+2 (d) X +4

BOOOOOOOIOTGOOBOCTOOOOOOORIOOOCCOOIOSOC SOOI OOT

[b] Factorize each of the following :

MX*-5Xx-36 @4x*-25y

Eact Nacr City Educational Zone
Mathematice Ingpection

Calro Governorate

R SRR B A T B

T

Answer the following questions :
Choose the correct answer from the given ones :
D X=2) (X2 +2 X +4) = e
() x> +8 (b) x> -8 ©)x3+4 (dx3+2

(A) Y o / golas] ¥/ () olsb, yalbsdl s @
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(2) If a die is thrown once > then the probability that the number 5 appears is -~

o) _5_ I8 B _l_ o _1_ el .Q_

(d} 6 ) 2 <~) 6 -\J) 6
<3>If7x—3_—_5x—3,thenx: ...............

(a)5 (b)7 (c)3 (d)0
(\5}4 x 15 = 12_5 s

(2)-2 (50 (c)2 @l
(5) X 4 4 4 can be factorize by completing square by adding -+ . _

@ax o (m)-x7 (©)£4x7 (@)-2x>

[B]Complete :
X
3" .2 e

(2) =—5 »then X =

(2) The solution set of the equation : X 24 9=01inRis orreeeeee
(3) If the probability that a student failed is 7 % » then the probability that this student

Succeeded 1S cremreemeeeens

(4)If3X=81 sthen X =:weeeeemees
(5)'Ifa2+2ab+b2:_:25 ,then(a+b): ............... .

3 IEY! Factbrize :

(1)aX+bX+ay+b.y (2)4X4+1
[b] Find in Q the solution set of :
D X2+3) (X3 +1)=0 (2)4X2-25=0

X X
(4 JOLE 1;‘3? =64 »find : X

[b] A rectangle its length exceeds its width by 5 cm. and its area is 14 cm? Find its dimensions.
g g y

[a] A box contains a similar balls > 8 white balls » 5 red balls and 7 black balls » if we
choose a ball » then find the probability that the ball is :

(1) White. (2) Black or red.

[b] A rational number 5 if subtracted from it double its multiplicative inverse the result

equals one. Find this number.
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SN

~ Additional questions

OOOOCT

[a] Complete each of the following :

| (DS5XZ+X=6= (e F o ) G )

(2) The expression : X2 —k X +4isa perfect square sifk = -+

DOOOVO OO OO,

[b] Factorize each of the following :

>

X2+ 7x+12 (@6X2-7x-3

R A A O R R o o N R A A A A 1 A e R R R AN IR A AR A o 3 A o A H A AR A G € o S A O R A 0 T AR

Omrania Directorate |
ELCadat Governmental language School

a4 Giza Governorate

Answer the following questions :
@ Complete each o-f the following :
-2
(1) The simplest form of (%) IS «reveeeeeeens
(2) The probability of the impossible event = -----...
@IF2%X=5,then2 X+ =
(4) The age of a man now X years » then his age 7 years ago is s yEATS.

(5}X(a+b)+y(a+b):(a+b)( ............... )

& Choose the correct answer :

‘~ _(1) The solution set of the equation c X2+ 25=0in RS oeeeeeen
({5 >-5} (by {5} ©{-5} @ D
@FP+83+ 848
() 4° (b) 4* (©) 412 (@ 4%
(3) If a die is thrown once » then the probability of appearance number 7 18 ««e-veeeeeeees
(a) zero (b) 0.7 (c)0.6 (d)1
@) (593 =
(a) 57 (b) 5° (c)5° @5
G IFB)***=1,then X = v
(a) 4 (b) -4 ©)5 (d)3
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£ Factorize each of the following :
(DaX—-4a+3XxX-12 (fz)x4+4

[ﬂ [a] Find in R the S.S. if the following equation : X>-5X+6=0

[b] Simplify : o

(B (2] Find the value of Xif : 2* % =16

[b] A box contains 3 red balls » 4 yellow balls and 5 green balls.
Aball is drawn randomly from the box.
Find'the probability of the drawn ball is :
1) Yellow: (2) Green. (3) Not red.

£ Additio nal q uestion OOQ(/;"f)(‘rw&(/\/Dv/f(/wﬁxxYXWWAX/'w')ovfmz%)g:{«x"z@(%}()()@/&(}(/v\?;(x}«}o&x»m)L;LJt“»"J;K;«"«'x}QO'wixi‘(A;’&OO(XWX)QCOQC‘(x’,% WA A AN

¢ [a] Complete the following :

MIEX2Z+aX-13=(X+1) (X—13) sthena = oo

@IKkEZ > X%+kX— 3 can be factorized » then k= --roorrrror

[b] The area of a rectangle is (X 248X+ 15) cm? and its width is (X + 3) cm. g

Find its length in terms of X » then find its perimeter in terms of X : é

Bo060000000000BOBOODOOOOODBOOBIORODIOOONOOOCODICOOOOOBEOOCIOIEIIGONOOOOOTOOIO W\ooooooo\ . ) o<><><>o<><><><>o<><><><><>o<><><><><><><><>o<><>’>ooo®ré
Dokki Digtrict

Giza Governorate

N P T S R T A 8

Modern Narmer Language School

Answer the following questions :

Complete the -following :
MWIfa(X+y)-b(X+y)=15sX+y=5sthena—-b=-rre.
(2)IfX2—y2=35 ) X._y=7 ,thenx+y= ...............

_ -3
(3 The number (\5 ) in the simplest form is -+
@)If?)x_z =0 sthen X = ---cvvovvvveen

(5) A bag contains 10 cards numbered from 1 to 10 » the probability of choosing a card

that carries a prime number is -+
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B Choose the correct answer :
(1) The expression: X (y+3) +z (y+3) = oeenee
@X+y+z+6 () (X+2)(y+3) (© X+2)(y+3° (d) (X+2)x2(y+3)
@I3X+3X+3%X=1 ,then X = v

(a)—1 (b) 0 (cr1 (d) 2
@ If3%=5 5then 27)X = oo
- @9 - (b) 25 (¢) 125 | (d) 729
@22 %312 = e |

(a) 6° et . (©6" (d) 6%
(5) If a die is thrown once , then the probability that 5 appears is -+

(a) —% (b) zero - (c) % @ %

(< [a] Factorize completely :
(MDLX-7L+3Xx-21 @) X*-Xx%2-5X+5
[b] Using factorization to find the value of : 36% — 36 x 16

4mx62m

3 [a] Simplify :

[b] If a number X is decreased by twice its multiplicative inverse » the resultis 1 Find : X

BJ) (a] Find the value of X if : 32X~ =243

t-:

[b] A bag contains 20 balls numbered from 1 to 20 » if bne ball is drawn at random
s then find the probability that :

(1) The number is a multiple of 4 (2) The number is less than or equal 7

[a] Choose the correct answer :
MIEX3+y3=29 , 2X+2y=6then X2 =Xy +y>= e %
(a) 3 ()9 (©)27 (d) 54 :
(2) The number which can be added to the expression : 2 X2+ 5 X — 10 to be %
factorized i - -eeeeeer :

(@) -1 (b) -2 (c)-3 (d)-4
[b] Factorize each of the following :

M2(X%2-2)-7x (@ X?-25
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Middle Educational Zone
Mathematice Ingpection

6 B Alexandria Governorate

Answer the following questions :

Choose the correct answer :

(1)The $.5. of the equation : X (X —5) = 0 in TR is o

@{ot {5} T ©fo,5} () {0 55}
(@ IF5X 4 =3%"*sthen X= oo - o |
- (@4 (b)-4 (c) zero (d)35
(3) The probability of a certain event = |

(a) zero ()1 (c)—1 {dy-2
(@H(%)X: 12275 s then X = -+oereeeeees ‘

(2)-3 (b)3 ©2 (d) zero
(5) Which of the following may be equal a probability of an event ? |

(a) :f- ®) 17 © 1 (d) 60 %

- S

=3
i @)IE5%=3 5then 5% = oo :

i (1>Iny”1 — -1_ ’then_‘%lc_z R RTREE

(3) If the probability that a student succeeds in-an exam 1is 0.8 5 then the probability of his

failure is -+

@IEXER > then- the S.S. of equation : X2 449 =018 -ooereeeeees

(5) The age of a man now is X years » then his age after 7 years ig -+ years.

&3] [a] Factorize each of the following :
MXy+5y+3X+15 @ Xx*+4y

[b] If a real number is added to its square the result will be 12 » find this number.

3 (2] Find in R the S.S. of the equation : x3-25X=0
X X 6X
18%

[b] Simplify to the simplest form : 3
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% {a] Abox contains 5 blue balls 5 7 red balls and 8 green balls.

A ball is drawn randomly from the box.
Find the probability of getting :
(1) Red ball. {2) Non-blue ball. (3) White ball.

[h] If3%X-4 =243
Find the value of : X

’/i Additional question R i

fa] Choose the correct answer : ' : :
o ilem=9 s m-l=—6,then (2 m?= i
. @ ) 14 (©) - 54 @-14
§ @HEX>-2Xy+y2=36sthen X —y = /
(a) 18 (b)-6 (c)6 (d)+6

: {b] Factorize completely : _

9 (’ﬂ>2‘x3+16 (2)7X4+23X2y 30y

Directorat of Education
Mathematice Inepection

EI Kalyoubla Governorate

Answer the followmg questwns

€ Choose the correct answer :

(1>Ifx3xy 8 ,then.il_(:: ...............
OF (b)2 © % (@) 512
(@) The S .S. of the equation : X (X—2) =0 inRis «eooerevee .
(a) {0} (b) {2} ©{0,2} {0,-2}
: 5\% 27 B
(3)If(§> _1_2§ sthen X = - oovevvvnvnn.
(a)-5 (b)-3 ©)5 (d)3
@B+ +83+43=
(a) 4* (b) 412 (©) 16 (d) 1612

(5)22)(53:. ..............

(2) % x 103 (b) 103 ©) 10° (d) 10°
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B Complete each of the following :
(1) The S.S. of the equation : X*—3 =0 in R is «+oworereeeee
(2) The S.S. of the equation (X% +4) (X3 +1)=0inRig oeeeeeeeenn

(5) Letters of the word (Elkliobia) are written in cards. If a card is drawn »

then the probability that chosen card carries the latter "1" = -------ooooe

@ [a] Factorize the foliowing expression : (1) X 2_5x (2)aX-Ta +3X-21

' [bl]Ifa :\/E s b=1 Find the numerical_ value of : a* + b!°

[a] Find thé S.S. of the equation: 2 X-3) (X+1)=0 » X&ER
(12 3° |

(1)

£ [a] The length of a rectangle exceeds its width by 1 cm. 5 if its perimeter = 14 cm.

[b] Simplify : to the simplest form.

Calculate its area.

[b] A regular die is drawn once. Find the probability of getting :
(1) A number divisible by 8 . (2) A prime number less than 4

COOOOE

- Additional question

[a] Complete each of the following : - v
WIFX2-k+10=(X—3) (X+3) sthenk = ---ooeeee
@IfX=3 5 y=8 7thenX2—2Xy+y2: ...............

[b] Use factorization to get the value of : (80)2 + 40 x 80 +400

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

El-Sharkia Governorate | ISR WMRFRA
Answer the following questions : -
Choose the correct answer :
MIF(X-2)"=1sthen X E ...............
(@) {2} bR (c)R-{2} (A R-{-2}

i
i
|
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o IES5X =4 sthen 5K = o,

0.8 125 0125 008
‘= The S.S. of the equation : X2+ 1 =0 in R is --merveee

= A{-1} 11} 1,1} %)
(= The probability of impossible event is -----------

e -1 ' . zero = 1
(%) The value of (’\/—3?)16 = X o :

{2y 16 . 58 -4 ()32

(= If a die is thrown once s then the probability of appearance 5 1S -
\43 a_ 7 + 1 - a_7 ( ............... 4o )

(5)3% x3%x3%=(27)

| {a] Factorize each of the following : ,
(*;j}az+ab+a+b . {;,;j;x“‘+4y4 ‘

(b} Find in R the S.S. of the equation : (2 X+ 1) (X-3)=0 -

[a] Find the value of X if : 37X 2= 27
4X+1 X 32X—3
62%

{b] Find in the simplest form :

& [alIf 2%~ = | Find the value of : X2
[blIf a card is selected randomly of 30 cards in a box numbered from 1 to 30
Find the probability of getting :
(1) A card carries a number divisible by 5
(2) A card carries a prime number less than 20

(3) A card carries an even number.

(A20) ¥ o / galae] ¥/ (0W) bzl yabsdl w1
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. Additional question -~

ia] Choose the correct answer :

(HIEX+ 1)2 is a factor of the expression (X2 — 1)2 , then the other factor is -+
(a) X—1 by x2-1 () X2+1 (d) (X - 1)°
(D IX=T » y=3sthen X2 +2Xy+y’= s
(a) 10 (b) 4 - (c) 100 ‘. (d) 16
; [b] Factorize each of the following :
5 (13X2+10X+8 (@ 5 X =9

RO GO R SRS HHAARAA A AR DG AAA A ORI AAAAAI A 3 A PO e RN AIAARA A A AR ot O 5 X D e NN A SCAAS A AT A F AT

‘ ‘; ' . : Official Language Schoole
9 : El-Gharbia Governorate The Central Mathe Supervicion

Answer the following questions :

E® Choose the correct answer :

(1) If a die is thrown once » then the probability of appearance odd prime number i§ «-+-+-+----+-
(@) 0 ®) + (© % (@)
(2 1f73§=49 ,thenX=' ....... el
“@o (b) —2 -7 (d) 2
(3) Which of the following may be equal the probability of an event 7
(a) —0.73 (b) 1.23 () 79% (d) %
@ 310 + 310 4 310 ' |
(a) 33° (b) 31000 () 3! d) 312
(5) One sixth of the number : 212 % 312 g e
(a) 62 (b) 6* ) 6! (d 6%

@Complete:
(1) 1515253 03 98 g iriraiiienn g reereeseenaees (ln the same pattem)
@ 3% x 27 X=15then X = oo
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(3)The S.S. of the equation : (X — 1)2 =0inRIs e
(DIF6X=11 >then 6 X = oo

(5) The probability of the impossible event = -+

5 [a] Factorize each of the following :
(1)y3+y2+9y+9 (2:)4X4+y4

(b] Find in the simplest form : (\[g N 2)“ ( %_ 2)11

X, X | »
&8 11t E—I;—E— = 64 Find the value of : (4)~*

[b] What is the positive real number if we add its square to fhree times it the result will be 28 ?

@ [a] The set {2 s355 } is used to write a number which consi.sts of two different digits
(1) Write the sample space.
(2) Find the probability of the following events :
“First : The units digit is an even number.

Second : The sum of the two digits greater than 5

[b] Find the value ofxif': 7X-2-1,where X ER

. Additional question Wf/o\xv:>c»«;\'\”>m?o< AN A N R NN A EHHI IR DA A AAAF A

[a] Complete the following : ‘
: (1)IfX—y='3 ,X—2y=7 ,fhenX2—3Xy+2y2; ~~~~~~ e f
E (2)[2—m2=(+m,theng—m; ............... . ' <
%;' [b] Use factorization to get the value of : _(73)2 —(27)% ?i

Mathge Qupervigion

| El-Dakahlia Govérno’rate;

Answer the following questions :
Complete each of the following :
<1>Ifx3 y_3 — 8 ,thenl: ...............

X
CE)Ifx2+y2=26 ’ x+y=6 ,thean: ...............
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o3 X-ly 3 X=Xl oy
If2x=\/§ s then 16X: ...............

O If(a+2b)=5(@a-2b)=10 s then a —4 b =

- Choose the correct answer :
COTIf3%X=5,then 3% 2=

EN[)

(=) The S.S. of the equation : X% + 9 = 0 inRis ~rvveveve

() {0} m {3} (cy{3,-3} %)
1 2, 1 _ . -
IfX+—5C—-3 s then X +;c—2— ---------------

(219 (5 11 ©7 (@)1

-y If the probability that a student succeeds in an exam is 0.8 » then the probability of his

fai lure i S ...............

| !

(O IfX+2y=7 5 a-b=3sthenb (X+2y)—a(X+2y)=-- RRTTEES

D=

(2) 10 (b) 21 _ (c)-21 C(d) =10

' Factorize :

Caxt+25y —29x2y? o x342x2-4x-8 (o) X' +64

(9)X—1 % (4)X+2
(6)2x

[} Find in R the S.S. of the equation : X — % =2

1 Simplify :

§ad

R X-2
B a11t(2) =2 Find the value of : X

b1 A box contains 24 identical cards numbered from 1 to 24 » a ball chosen randomly
Find the probability that :
(1) The chosen card carries number divisible by 6

(2) The chosen card carries a prime number.
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North Adminictration
Gov. Cchool Directory

Y

111

Answer the following questions :

Port Said Governorate _ )

4

.

. Complete each of the following :
CoIEX(X-2)=0sthenX=00r X = oo
=5 The solution set of : X244 = 01in N 1s
{;3}a(X+y)+b(x+y);(X+y): I Foreeeeen, )

(4) The letters of the word (Egypt) are written in cards » if a card is drawn at random »

" then the probability that chosen card carries the letter "E" is -+--ev----

() ('\/E.H/E)g (VE_'\/E)Q = e

Choose the correct answer :

(3P 4P 4P =
(2) 3 (h) 34 ()39 () 427
{2) The probability of impossible event = ...
(@)1 | (b) 2 )0 @ 7
(1/33_)-2 N | |
@ % ERNCE- © Wi
(I (X-5)"0 =1 sthen X E --ovveovevene
(AR mR-{5} ©R-{-5} (@) {5}
(B)If5X=20 sthen X = wereeeen ' .
(a) 4 (b) 8 (cy 15 (d) 20

[a] Factorize the following expression : aX+bX+ay+by

[b] Find in R the S.S. of the equation : X>+5X+6=0

11 If3%~1=9 , then find the value of : X

) X X+1
b1 Simplify : A7x277 Zi
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E A bag contains 5 red balls > 3 green balls and 2 yellow balls. One ball is chosen at random
, find the probability that the chosen ball is :

(1) Yellow. (2) Green. (3) Not red.

{a] Choose the correct answer :

(DIEX2+a=(X+3) (X=3)sthena= -

5 ()6 )9 (©)-9 S d-6
% (2) The value of m which makes the expression : m X2+14X+1 '
§ | ‘ a perfect square is -+ _ ' | /
% @7 (b) 14 @ @16
% [b] Factorize each of the following : (1) —— a?-2a+4 (22 -2m

Damieta Inepection of Mathematice -
Experimental at Language Schoole

1 2 Damietta Governorate

Answer the following questions :

[nJ Choose the correct answer :

(1) The probability of an 1mp0551b1e event = S
(a) 2 - (b)-1 - (e)1 ~ (d) zero
(2)x4+4=(x2+2)2 ............... A
(a) +2 X2 (b)) -2x? (c)-4x? (d)+4 x>
3 A bird can travel 8 km. in 15 minutes » at this rate the bird can travel oo km. in 1 hour.
(a) 32 (b) 16 () 120 (d) 60
@I (X=5"=1 sthen X E wrrvvvvveeeees
(a) R (b R-{5} ) R-{-5} )5
(5) The solution set of the equation : X 2425 =0inRis oo
(a) {5} (b) {-5} (c){5,-5} %,
Complete :
(1) 25% of LE.320is L.E. -oeeeeeeeee

(@) If a die is thrown once > then the probability of appearance of an even prime
numMber :---eeeeeeeeens




Final Examinations

3)1f5x"2:l sthen X = ccoeeeeeeee \5(%)_4=(__)2

(s)yIf4a+4b=325then3a+3b=-rrrion.

ER [a] Factorize each of the following :
(X +4y? (5)3aX-a+6bX-2b
9% x 4%
62X

[b] Simplify to the simplest form :

B8 (a1 163 %! = % Find the value of : X

9 (ﬁ)sx

X+2

'[b] Simplify : (1)

, then find the value when X = 1

€8 (2] Find the solution set of the equation in R : X2 - X =12
[b] A box contains 7 red balls 5 5 blue balls and 3 green balls » one is chosen randomly.
Find the probability of the chosen ball is :
(1) Green. (2) Yellow. (3) Not blue. -
- AAAIHONAL QUESHION. - oo

[a} Complete :

SOCOCCOGINI

MIEX+y=5 » X2—Xy+y2=7 sthen X3 +y3= i -
@ (177 +2%x 1T x 3 432 = e

[b] Factorlze each of the follownng perfectly. :

DODDO IO 900«:»0@%\0&0«\>><>/>3«>:><>0€<000<XX\<,L

(1) (X +4)*-36 (@ 2y4+3y2 -5

OOOECEOGOCOBOVGOOBOOCOOCOOCOGOOH OO OIOGOBOODTOO OO G IO ORI OO A OO

VOB DOTTTOOOOOOCSOTIDOODO GO

2

Directorate of Education
Cupervicion of Mathematice

El-Fayoum Governorate

Answer the following questions :

Choose the correct answer :

™ 3B) 2 o
@9 ® -5 © § @9

(2 If X is an even natural number » then the next odd natural number directly is -+
(@) X+1 (b) X +2 (©)2X+1 d2x



Algebra and Statistics

‘v The SS.of : X (X-2)=01n IR is -erveeene

{2} {0 ,-2} {0,2} {0}

A\ st ...............
;/Ifx—7 E@ 3thenX¢

1 10% 5 10 5% 50

- 'Complete each of the following :
(5 a)O e, where a 0
‘2) The probability of the impossible event = --------- e
(I3 "2 =81 sthenn=-ooeoos B A2XGEA = e
{5)For every event A s we find that : 0 <P (A) <--vrooeevone ' :

2] Factorize each of the following completely : ©+> Xy+5y+7X+35 ()X ‘14

»1Find in R the S.S. of the following equation : X2 —6 X =0

Tallfa={2 » b=13

find (by steps) the numerical value of :

b2_a*

b2 +a?

] A card is selected randomly from a set of similar cards numbered from 1 to 10
find the probability of getting a card that carries :
(1) An even number. {z A number divisible by 7

{2) Anumber less than or equal to 10

2
/7] Find in R the S.S. of the following equation : 2% ~°=1

9XX3X+2
en*

ib] Simplify to the simplest form :

o Additio nal q ue s tio n ORI A SRR ISR AAIH A A ,»r'/::»: /.,».:»1:\';«.»«;;x'moo\'xywcooo:; RO RITH ORI LI vv_)

OGO

a] Choose the correct answer :

(1) The expression : X 2 _3 X + c can be factorized when ¢ = ----vevvene
: (a1 (b)2 (c)4 (d)6
: (2)If the expression: ¢ + 3 X + % is a perfect square sthenc=-oocooooovee

(a) X2 @%%Xz ()9 X2 (D4ax?

NG DOOCOODCIOGE DD BIIEBBOVOO

b1 Factorize each of the following :

MHXP-4xX-3(X-2) @3-

OO IR OGO OO TOCOOLO SOOI T SO UG OO OOOQOOTL DDLU

1
125

G D O S OOV BOO SOOI OIS OO SOT T OO TGS i s 777

ORODOODONDDE




Final Examinations

Governmental Language School
General Cupervicor of Mathematice

14\

El-Menia Governorate

Answer the following questions :

EF Complete :

| (’1)(%)_1 =
‘_<2)-(V5>2><(\[5)4—_~ .......... -
@22 %1 =32 sthen X= oo

(4) The probability of the impossible event = -----.-....
(5) The S.S. 0f : X (X=1) = 0 in R i ceveorreeer

@ Choose the correct answer :

(1) Sixth the number : 2!? x 312 jg .o

(a) 67 (b 6* )6 (d) 6%

(2) IfX= ,\/2 ,‘then X‘l e |
3 3 ‘

(@ @ - () % ©13 ()2
(S)IfZiSasolutionof:X2—5X+[=O sthen { = oo

(a) =3 (b) -6 ()3 (d) 6
(4)5X_2 =1-.then X= eeeeeenen.

@0 (b) 1 (c)2 (d)3
P+ + 431 P=

@ 4 (b) 4° (c) 412 (@ 4"

B} Factorize : (1) Xy +5y+7X+35 @ Xx*+4y*

@) (2] Find in R the SS. of : X2 + 16 =8 X

4X+1X92+X

[b] Simplify : 2X

(V-2 Y o / solas] ¥/ (W) ol yalsdll s (ETEER



Algebra and Statistics

BB (al1£3%=27 , 4X*Y=1Find the value of : X and y

[b] A bag contains 15 balls numbered from 1 to 15 » one ball is chosen randomly.
Find : (1) The probability that the number on the chosen ball is divisible by 3
(2) The probability that the number on the chosen ball is even number.

(3) The probability that the number on the chosen ball is prime number.

~ Additional question oomemm00000 RO 411 550
% [a] Complete : . | |
% .(‘1)5‘3(2__39(},_ ............... = (X —y) (e AR )

(@) e — 64 X2 = (4 e ) (A 4 e )

[b] The area of a square is (9 %2 + 30 X + m) cm’ Find the value of m (given that the side

length of the square is a rational number) » then find its perimeter when X = 2

VOOOIGOTIGIPOTO OO OOOCOOOOITOIODOOCHCOL

¢
HO0 OO HOOOOS AWWWWVQQW«AA:Qoay:V:g»,::>c»r\,f>0<><_»f‘/;v><>f/;}O:‘OCC&%)«B\"Cfr\‘»)(‘/ﬁ?-‘*S\‘<><;A‘3<>f:4>-xw«}{)@(‘/xx\(v’»Q(,‘/.‘«/;f»‘«'>/>"r~'.,-t><>’>5»TXJ'I/X;\‘)O«‘)O’X‘A)(A‘/OC\')Q’/

General Mathematice Supervision

Answer the following questions :

Choose the correct answer : |

(D) (X +3)2 = e . o
(@) x2+9 (b) X*-9 ©X*+6X+9 (d)>x2—'65<+9
@ If (_g_)x - 12275 s then X = - |
(@-5 (b)-3 (© 2 d5
(3) In a mixed school there are 320 students » if the probability that the ideal student is
a boy equals 0.6 » then the number of girls of the school equals oo girls.
(a) 256 (b) 192 (c) 128 (d) 196
@Ifa+b=5 > a—b=4,thenb2—a2; ...............
(2) -20 (b) -1 ©9 (d) 20
() (X+1)? =1 sthen X Ewevvveeeevee
() {02} (0 {0,-2} (©) {0} X%



Final Examinations

(2] Complete the following :

(1) If the probability that a student succeeds in an exam is 0.85 » then the probability of
his failure equals e

(2) The greater number of (- 2)** and (- )P s e
(3>If2x= 5 5 then 2X+1 e,
(4)X(a+b)—y(a+b):(a+b) ............... .

(8) If four timies a number is 48 5 then one third of this number i«

[a] Factorize each of the following completely :
MaX-4a+3X-12 - @a*+4b!
[b] Find in R the S.S. of the equation : 2 X3=18 X

. 2n
&3 1] Simplify : M%Tn

bii(Y3) " =0

Find the value of : n

5 [TEY Fmd the positive réal number if - we add its square to its three times the result will be 28

[b] One card is selected randomly from 8 cards numbered from 1to 8

> find the probability of the following events :
(D Getting a number divisible by 3
(®) Getting a number greater than or equal to 6

(3 Getting a prime number.

[a] Choose the correct answer :
('I>Ifb—a=6 s then 32_2ab+b2= s

(a)- 36 (b) 36 (©) 36 (d)-12
@f4x>- y*=32 , 2X+y=8 sthend X—2y = oo
(a)4 6 (©) 16 (d)8

[b] Factorize each of the following :
. (DAXGBX+Ty) -5y @ %2’ -8p’
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